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(4)
Part A
History and Culture

Consider the following statements on the iate 1.

Harappan cultures ;

L The late Harappan cultures are
primarily Chalcolithic in which tools of
stone and copper are used.

II. They do not show metal objects

_requiring complicated casting,

II. The Chalcolithic people in the later|
‘Harappan phase lived in villages.

IV. In the late Harappan
Bhagwanpura in Haryana, burnt bri&s
were not found.

Which of the above statements are cerrwh ?
(1) LHandIV (2) d HI
(8) II,HNlandIV 4) LI UiandIV

Consider the following types of pottery 2.
L. Black and Red Ware
II.  Black Slipped Ware

III. Painted Grey Ware

V.  Northern Black Polished Ware -
Which of the above types df pottery were
associated with the Later Vedic people ?

(1) I, I and IV only

(2) M, IandVonly

(6 Lo iiandV )

(4 LILILIVandV

Identify the incorreci statement on the |3

contributions of Jainism :

(1) The early Jainas adopted Prakrit to
preach their doctrines.

(2) ’I‘hear mhgmus literature was written in

(3) The early Jainas discarded Sanskrit
language.

4) ° 'I-‘l’wy never used Apabhramsa for the
earliest important works of Jainism.
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List I Ll
' ' (Capital)
A, Avanti I Ujain

] 111. Kaushambi
D. Anga IV. Champa

Choose the correct answer using the codes
given below :

P i

1 1 I v

C
il
2 I 1 v o
b |
1

@ m N

'cmmaermmwmgwm architectural |

fom

I Rock-cut elephant at Dhmih in @mssa

I Yakshi ﬁgm fm?%. Wﬂrgﬂm near

Pégma

1. Great Stupa at Sanchi in &&adhva '.

Pradesh
Iv. %pﬂim&hxﬁ b f
‘Which of the above art and architectural forms
belong to the Mauryan period ?
(1y I, Hiand IV

2) II mﬁi i ozziy

3 1 II,HIMW

(@) I MandII

4. (800 o8 36008 ¢

0. Shravasti

ng
(0250
&GO

arda]
(a525:5550)
0508 L
e L )
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&0 V. B0

g a w p
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8.

(6)

Consider the following items : 8.

II.  Trousers
III. Heavy long coat
V. Helmet
V. Boots
Which of the items listed above werel

intreduced by the Shakas and Kushans from
Central Asia ?

1) LN IMandIv
(2) LI MandV
3 ILULIVandV

4} LILILIVandV

In the Satavahana’s inscriptions, the terms

‘Katakas’ and ‘Skandhavaras’ mean 7.

(1)  The tax free villages of Buddhist monks

(2) Military camps and settlements which
served as administrative centres

9‘

3) _’!-"he areas of rock-cut architecture

(4) The areas of large scale paddy
transplantations ;

Consider the fo‘ilow:iig statements : =
1.  During the reign of Chandragupta-1, ﬁw

Sakas were défeated. 8.

II. Samudragupta’s South Indian conquest
did not iead to any permanent
annexation. :

Which of the above statements 1sfare.egt§rmct ?
(1) Statement I only

';2; :tanamentﬂonly
. Both of them

{4) None of them

In the Sangam literature, Vellalars were : 9

(1) Brahmanas who functioned as poets

rich peasants who formed the fourth
caste

agricultural labourers who also worked
with animal skins

forest tribes who suffered from extmme
poverty

4)

808 ®@oed HoKSosod
I &odmr '
. Jrgoén "

L 208 csared Sen ’
V. 288

Y. aréy

a0G5 BAATT HOB SIS wowereS Foen
SHOAL  Forden B T8S Jdd
PeToBnToriTe) :

TS ?

() L IL I 805 IV

(2) LILII 8050 V

(3) I, I IV h0cin Vv

4 LILILIV SH8cswV

TSSO TSV Co¥ .fnﬁdm_
‘A’);,oc‘,ﬁéa*an o3 dore eofo

(2) HDOFOT BoTenr ma‘n}&’) 0%

- IL SSSHID S8 gy
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10. Match the fol

1l.

gl
(Paliavan Ruler)
A. Sivaskandavarman 1. Samudrag
' o _mvas&on -
B. Vishnugopa  IL Kanchicame
. Pallavas
C. Narasimhavarman-I IIl. Defeated by

Vikramaditya-1I '

and city of
Kanchi was
captured

D. Nandivarman-II 1IV. Defeat of
Pulakesin-II
of Vatapi city

Choose the correct answer using the codes
given below : .

A B c b
B 4 11 m W
@ 1 I v I
& W u o3

T L W

Which of the following is wrwly s&atched

w&threspe&tollmm?

{1) Amoghavarsha : the first Kanna&a book
writer

(2) Dantidurga : the founder ofRashkrakuta

kingdom

(3) Vallabharaja : the eonzem;m-ary of
~ Al-Masudi

(4) Krishna-TII: : the famous rock-cut wmple

of Shiva at Ellsm

12,

Identify the incorrect statement regarding
the Cholas :

(1) The Chola Empire was founded by
Parantaka-1. . '

(2)

@) Rs

(4)
Cholapuram.

|1L

el | sl

39S 4 (omdad HoHEHS)
A %‘é:&mdééz 1 :sxma_m:a
| BOBOSres
v OPFH®  IL ¥ HVHO
- . - eb35058 3D
C. $6ROISET LI HESrOSS-11 o'
; 4,88 0w, S0 &tido
F1BIHEHoVOD
D. SOBSEM IV, HOTR-I L6
2005 TED SKG
e DB JOH0
R~ aam‘s FHOD GITPACD IBS
BT TR : ;
Ao B e
H 1} it m v
2 0 1 v m ]
o WO g
Gh o mwes 1

'0‘{§§\?¢DO§0 Jo0boD Lﬁo& >8S 6
S I0FO0
(1) SRS Wgé;é HNE
S0
(23 éﬁo&dm@&a 0‘1@5\3‘& o°ss TS0
-- S0z @5@&?& D5 D S

@ ozoeldrdy -
@ oBodI 60@0&&#&’@@&);
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13. Quwwat-ul-Islam mosque in Delhi was built 13, é@é‘a 03 § 8-S
by &)630:‘23«6&
(1) IHtutmish : : :
(@ Qutb-ud-din Aibak ) )
3) Ala-ud-din Khalji
(@) * Ghiyasuddin Tughlag . @ W&ﬁa@ﬁ é:r?s‘
: - 14. o8 88 oI I00HS
14. The Persian traveller Abdur Razzaq visited BODSATD) I INYo)
Vijayanagara in the reign of : : OG8N ? :
(U Harihara-I | @ Hessi
(2) Devaraya-I
(3} varaya-1
K;i&hnadeva‘i'aya
15. Match the following : F ng@ e “’m‘moa’
ras List-1l ~ . ardes.] zrdee 11
(Bhakti Saint) (Aréaofllis . ot 0l o0y (B (roso)
A Vallabhacharya 1 Uttar Pradesh A SQETOIR L BSSDDT
B. Tulsidas Il Gujarat B. SO [ H30°8
C. SriChaitanya  IIL Bengal C. 2BSSs®. 111, BorS.
D. Tukaram V. Mmm . p. OV V. MU‘[@
Choose the correct answer using the codeﬁ e, Qb 235085 Fhod &maoa BS
given below : - ASrTRR), oomS‘c}é o
5 =0 4 Th 33..-- AR ¢
o1 1 WL o aW (11 AR
B SRR e i & 8 T v
@ BE- IV ] II PR IV T i1
' {16., A5 > Y JOTOS ITHO D (Eod
(DELSLD HBRBoBOS :
e S Io
s ] 12,500 5% 238 e
on the basis of produce from the land. &
: I 0 808 Jdprsso Do
II. Land was measured according to a EOTZ 3.
uniform system.
. / ML & @) S5en
III. % of the produce was collected as tax. %’éﬁﬁ& S293 Sing i :
Which of the above statements are correct ? 2 [DEESOHS’ DD HBSD 2
(1) IandIl ‘
2) 1and I : ] ,
(8) MandHI L. @ u:m&dinm
(4) I,HMandII - { @ LOXS6chHm
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17. 800 T SO H0H0s0s
III. Tomb of Humayun = . Iﬁ mn‘ 3 HETE

GS/1G/100
17. Gonszder&mﬁa"
L T&%afﬂafnnm

V. T Magid | o sdhe

Which of the above buildings were constructed | D dvod 380 o585 sovod
during the reign of Akbar ? | _ ;{}ogowé) ? :

(1) Il and Il only

(2) I, MlandIV

3 LMandIl _ @ EEsscsm
{@® LI MandIV = '('45 xn,’u' A |

18. Match the following :

List-1

. (Name of tﬁ@

Buler)

A, Husain Ali __

B. Murshid Quii
Khan

C. ChinQilich  TIL
Khan

(P D) (ai”c)siw 0
S L Ho%Bs

_ FSBoS 2,85
& I BorS o

. OSEOSTSUL Eows dzo
| posiBedn  m esssss

Choose the W answer usmgé"iém eodes e {.& AS5TBOD $BS
given below :

D. Saﬁla:r&ung 5

- Ao e

i & 1 11

D
v -
| v

(8) 1 1

H B 418] ©
B gz =
=

ol
&
2.
ot
=

@4 I BE
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19, Make;wbgfoﬁcwmg 5
List-I = List-I1
(Kakateya ruler) ' (Event/
Contribution)
A. Rudradm I. Shifting the
capital from
Anamakonda to
Orugallu
{(Warangal)
B. Ganapatideva II. Thousand Pillar |
Temple was built {
C. Rudramadevi Il Malik Kafur's
expedition
D. Prataparudradeva IV. Marco Polo’s visit
: to Coastal
Andhra
Choose ‘the correct answer using the codes
given below :
A B C D
1 1 II m 1w
fe o 2.1 v O m
3 1Iv I 1§ 1
W e w1 1
20. I&enlafy the correct chronology of Later

Mugha%a

1
.Jahandm' Shah > Muhammad %ah >
Shah Alam-IT

(2) Bahadur Shah > Jahandar Shah >

Muhammad Shah > Farrukh Siyar >|. s

(10)

Shah > Farrukh Siyar >|

Shah Alam-IT

N
Bahadur Shah > Jshandar Shah >

Farrukh Siyar > Muhammad Shah >
: )

Farrukh Siyar > Jahandar Shah >
Muhammad Shah > Shah Alam-II >
Bahadur Shah

(3)

(€]

19. (S08 363 SO 0d:

ardes] rder]
(55 Bap OV
Fershed) Sayen)
A BISBHHD L e39808
Sod e.tdiien
(S80158) %o
O3 GrRS )
B. 42008858 I Son Jorre HSG
o0
C. BBHTD m. 508 syb
SoBoSr|S
D. (B&HHSBIHH V. Fross
Sr&H S’
OIS
BHS ASBS Fhem. GHErA0D HBS
JSrera) HoEod ; ;
. A B & D |
@ 1 1 m 1
(3) Ty n I
doioo(d) BV I il
2& _§¢§a’aﬁ 'ﬁn{:«)vmm &B&'s R,
| BoS0: _ |
(1) DErEars HErE DATE "0
X >FS sdrecoll
(2) 258D x> BI0B6 > > 5N08

ar > HEFrD DS > reseo !l

2ErB x> 2rosb ar > eS|
DASFS > 0TS > ar ese0 1T
DErPd Dard > a3Zosd
AT D 2 > ar e0-1 > 22537800 ar

3)

>

(4
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21.

In Shivaji's administration, Dabir was :

(1) An officer responsible for intelligence,

posts and household affairs
2)
grants
The Correspondent to the king

The Master of Ceremonies and helped
the king in foreign affairs

(3)
(4

establishment of French settlements :
63)

Karaikal
Pondicherry > Yanam > Mahe >
Karaikal > Surat

(2)

(3)
> Yanam

4
> Yanam

Consider the following Indian states :

I Awadh

II. Jhansi
III. Satara
IV. Nagpur
V. Sindh

Which of the above states were annexed by the
British due to the policy of Doctrine of Lapse ?

(1) LILHIandV
(2> I,Hland v
(3) 11 and

4 ILHLIVandV

Identify the wrong matching of poets and|

their languages in the 18" century :
6%)
@
€))
{ @

Tayumanavar : Tamil

Warris Shah : Punjabi
Kunchan Nambiar ;: Malayalam
Dayaram : Marathi ]

The in-charge of Justiee and charitable

m the  correct  chronology of|

Surat > Pondicherry > Yanam > Maha] :

Surat > Pondicherry > Mahe > Karaikal

Pondicherry > Mahe > Karaikal > Surat |

1)
|e1.

2728 HOFOIS, ‘BHE wdaE T

1) SLos SEIS0, Srer SO KT
ST T 0B w5 $3r0T HED

TI0H0 DO ey TR D
e gedtie 50

s S (HehgdSanen S8 S5

(2)

(3)

S8 B2 SpstTrods o
S ytnSoBod Htd

(OS5 IO FHSD IBS FOEIID)
Q008
- APSSE > FoAhT)0 > AR > S >

HS, ©HS  sEswen :bdgzroj

(2

FOBT )0 > Araro > Hr > §BES >
s

(8) &8s > FoATH0 > M > 35S >
o\

(4) JoBT0 > Hor > §BES > S >

OIS0

808 28e T SOMEdoS0S :

I o355

o &)

1. o

v. ahybd

V. NP

S DS o@Ered’ 38D && Jssd
o.:@a oo
DB ?

I, I1, 11T S8y V
1, 11 S8 IV

DR ozg  SolEveo

(1
(2)

185 ¥erpod’ Egen HOM TO RO
ED S HOFOEK HBOSOA :

(1) ST DS3D : SO

(2) a-afba‘r::aoz-é)

3)  H0B3S S0DArS : HeAsrEo

{4

OO : W00 3
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25. Consider the following statements on the

28.

contributions of Pandit Ishwar Chandra
Vidyasagar :

1  His great contnbut:lon was for the
upliftment of women in India.

II. He organized a powerful movement for
the enactment of Widow Remarriage
Act.

II. To propagate his social ideas, he

published Sambad Kaumudi, a Bengali|

weekly newspaper.

Which of the above statements are correct ?

(1) land Il )

(2) IandIll
3) HandIl
(4) L MandIN

Which of the following statements is
incorrect on William Bentinek’s reforms ?

(1) Introduction of a new land revenue

system in the North-Western Province
Abolition of ‘Sati’ :
Eradication of female infanticide

2
(3)

{4) Establishment of universities for the

first time
Consider the following events :
I.  Swadeshi Movement
II.  Surat Split
III. Lucknow Pact
IV. Home Rule Movement
Which of the above main events took place
during the extremist phase ?
(1) I,HandIIl
(2) IandIIonly
(3) ILIIandIV

(4) LI, IIandIV

(12)
%l

:
D0BE &3 Bol eRrdd TS
Jrsrore D 1§08 1HERSeD HOHBoSoS
ESTE0SD DT  eEH) N8
S0DHS DS DTG0 trer IO,
. Jeédoed SO gary &0

ErerodHotsdo SpaTe) @65
F8S08 S BBESIr) VS saroTrd.

B3 Fred eSIon  DEdo
DOHERS, @D Joad TSN &F

-

I

Borrd) &T, TEDBED
(B0

D PDELSOS DD HBID ?

() I08aw I 1

(2) 18I

(3) Mook I

4) 1,11 SB80%w Il

JOaho  Boedo§ HoMsweD LSO&

(DELSOS’ BO5WOAE B ?

(1) SONSE OROS Srésss 2R
AETR) (D3F DEEBO

@) DD EToHso

(8) [N OIS0 DSOS

@) BOASTOT D3 DT EOATO oo

1808 JoeSOD HBKBoSod :

L 3582 ad90

I ros HOE

L of) ad)odo

IV. 00D &rd adiedo

S DS TES D (DTS éo«;&)&é@

ASTS B¥S =08SD?

(1) L II08c% I

(2) 10805 I Jredsd

(3) I, I S8ok» IV

(4) LI, I Héan IV
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28, Consider the following events :
1. Visit of Simon Com

1L
session
1. Launch of Dandi March

Which of the above main events took place
during the tenure of Lord Irwin ?

(1) landIl
(20 TandIll
(3) MandIII

1, IT and 1T

(4)

Consider the following Revolutionaries
I.  Bhagat Singh

Sachindra Nath Sany, ol

Jogesh Chandra Chatterjee
' m‘?rasa& Bismil

Chandra Shekhar Azad

Who among the above founded ‘Hindustan
Republican Association’ in 1924 ?

(1) LIlandIN
- @ NlendIV
(3) ILIL,IVandV

@ LI, MandIV

Which of the following is wrongly matched
regarding ‘Praja Mandals’ ?

Vijay Singh Pathik : Rajasthan

(1)

(3)
4)

Sewa Singh Thikriwala : Punjab
Sarangadhar Das : Orissa

113)
ﬂ- L@o& Sogherder HdHSoOS :

Purna Swaraj resolution at Lahore]|

o

L 20s£as a;vééﬁ%%xs;m

eanrd mﬁéaﬁ‘ Meﬁswa‘;’
Sos0

. &0d ofiried rooZso

erf 2058 BEDTwOS’ DS DTS D
Somersed’ 3D 20mraw ?

1) 106cwl

@ 1805 11

(3) 11 So8asw I
L(@ L 11 o608 11T

1 %

29. (808 DASEHOD HBEBoSOS :

L 348 doh

mﬁ&@ 58 xS
S0l 56
oS BB DS
S0l 38 b

192465 SrOtHTTS BHDES FVITDHASD
TS FBS’ 5K G ?

I, I SHoako T

I T 8050 TV
1L, 111, IV 20005 V
LI T 5805 IV

1L

@)

(3)
(4)

B2 oY § 5020800 1808 FES’ IO
S 2SDEB0EIE ?

2D Vofi 3ES : TP

30g

(&5)

(@ porsod vre: Sogwss )

e dob difarer : Hoerd
DBOKGE R : 2,83

3)
4)
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81.

PartB -
Polity, Social Justice and
te&'nnﬁomt! Relations

WHIE 5f' e Billiwing statmentistatoments
is/are valid regarding the office of the ‘Whip’ ?

1 Although not mentioned in the
~ Constitution of India, the office of the
‘Whip’ has however been incorporated in
the Rules of the House by the Leaders
and Chief Whips of Recognised Parties
and Groups in Parliament (Facilities)

Act, 1998'.

II. The role of the Chief Whip of the|

government party in the Lok Sabha is

served by the Minister of Stm for

Parliamentary Affairs.

HI. Al political parties — whether ruling or
~ opposition, will have their own Whips in
~ the Parliament,

IV. The Chief Whip is not responsible to the

(14)

31.

leader of &e House but is responsible|

on]ytotheleaderofthaepartythathas
appamt&dhumnomeoﬁw of Chief

Whip.

Select the correct answer using the codes
given below :

() IandIV
—
2 Only 1

(3) IandIII
(4) HandIV

>8B

sSROrsas, 08, #4S 235 wob

‘DD’ 5°0°50rRE o0 (§od D8I/
DEQSOS’ DA/ Teperen ©yTo0 ?

L

1.

ar8ed orarsofiod wESS0H 638,
% SO0, DFB0oen
(rdorgen) RO, 1998 S 180D
FodS rfen  HBO HArTO
TFodHHen HO HD e o

Har Dovsred’ otNStaBod.

SEISS e Q .‘m\aaa-@m

_:rgﬁ)oeoé QS;MU‘@ m so:mb:

©d) ozlonh mﬁm ©os8 Sor
@8 ;‘r'@os'»« a’rga:oené‘- &0

oé:oyesam
TODEAS Srehad arc;’:;é ‘;‘)WC&)

BDS BS528S TR GHTrNoD IBS
JBIFTR), dothHEod :

(1

156050 IV

2

I S35

(3)
(4)

11 808w 1T

11 800 IV



HI.

Select the correct m .

A Private Bill which has been

introduced by a Member of Pariiﬁami- .
sitting in the opposition and which has|

been approved by the House will have to
be referred to the law department for

econsultation.

A Public Bill is always introduced in 3

Parliamentbythe&inigtgroran@%ﬁ? '

of the government party.

A vaate Bill will not reﬁect the policy

by the House, a Private Bill would have
reﬂectedtﬁe pohcyof the gowem:.

3

Public Bills and Private Bills, regmﬁless'

govemed bythe same general proeedum,
and are mqun'ed to be passed through
ﬁaasmnemgeamtheﬂouse '

given below :

1)

(2)

@

II and III
I, I1I and TV

Only I

Only IV

Sgemre  Jod)ed, Tewertn el

(DES / |HELSOD dothosod :

i

i

t{_. i

L.

PDA350S  Hrdys)  FPDotw
2Hsch  (D3TDBS DB 1P
S80S 28 (30 Dd
Joddone Foo Teh TR

. rO0BSOV HOLNd.

%‘3@§ DD VDY Ho@d Bor

DSy B HHgd FEotwns
@%mm

i %.\{

.'a;é L@Sé i}c» (DD DT

BBDODOSE D OB @Bro

TS S0y, a8 (D38 D
':@@55 DR $BHODR0E.
:%m”m 60 (DIS Hevew,

T8 s émﬁ‘oé‘ - dowogio
am 28 m S0 oo
DgErosadmon HBa H5S° 23
&Sie orgor e3rBoSDTO.

Bl 2S5BS FBODH SSTEAOD DB
DSFETRRY, DOHTFOS

1

(2)

3

11 00 1M

1, 11T B IV

I S
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33. Which of the following State Bill/Bills will

have to be mandatorily reserved for the |

President’s consideration ?

L. A Bill that proposes to give effect to
certain Directive Principles of State

Policy.

II. A Bill requiring prior Presidential
sanction but “which was however not

obtained under Article 304.

III. A Bill that attracts the provisions of
Article 288.

IV. A Bill seeking to operate a provision

that belongs to one of the Concurrent|

List entries, but which is however

mppgnnnttoaaylfmmlnw.

Select the correct answer using the codes
sive ke

1) TandIV
(2) LHIandIV

(® onym

{(4) TandIll

33. %08 T8S D oRQ Dewdeen TYHHS
JORSE $H)DH0 828 5 Tahacd ?

L ola oPRE 30200008 ER)
e8828 dr@od eHen Tahadl
(DSIE0T Dew.

I Swochomr Ol ared e830°CS0
83030505 Dew. wond b edsd
304 (5580 oSSBT, §

. efséd 288 S QOG3OS
$Q0swod Dey. .

-
IV. &8 ode | Bdrod 2808
ifﬁo_éé DVORSD Ben Jared

e Hew, ewond 3O b@ar So|&
B8 Dv@o.

B8 25535 FHoS GITAOD IS
JSPETR) T :

(1) T8 IV

2 LIOSDNOHIV

(6 mirss

(4) IBas» Il
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84. Consider the following statements
connection with the office of Comptroller
Auditor General of India (CAG) :

1. CAG can be removed by the I’resiﬁmt
only in accordance with the pawoeedtzré :
mentioned in the Constitution but this .

does not mean that the CAG can be

II. Some public corporations are audi
exclusively by private

auditors, and the CAG may “have fio :

involvement at all.

[l The CAG can conduct legal, reguhwry
and propriety audit but not performanee _

audit.

IV. The Constitution of India has not
specified any criterion for the|

‘appointment of CAG.

Which of the above smmmntfsﬁuhmems
is/are valid ? L

(1) TandIl
{2) OnlylV

(3) IIandII

4) HandIV

. R0805r (CAG) ST°§©aird8 HowoHOD

(808 (HELIOD HofBo0d :

DES) S
@mw oaNd S CAGR
. Soflossd) S Dhos’®
o TIHMrG S8 CAGD HED w0d
:\_"fﬁjﬁc;?\“)qzbésutﬁgto A2 ©%0 .

L ozjoliod

y 50§ O B8aSen (RIS
2888 ebebe oriov (H8g¥om
Hovaderon HOAH CAGE
9536 [HFONO GOBED S,

| CAG 356D, Aovoiss SO
| Girasns; @888 DEFOSHOD

o R .‘,’aa&‘ima&és'c&o

Iv. -_ﬂAG AASTTRE oyl orzrgono
Moé @m.&: DEISB.

D (N8OS / L:Séeméoes‘ DO/ TERTED
)

1) 1805 I

(2 IV Sy

(3 I8k I

-
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[A]

35. In connection with the Goods and Services Tax | g, SRDshen HHBAM DS B (GST) TS

(GST) Council, which of the following |
statement/statements is/are valid ?

I.  The GST Council was established as a
Statutory body, but it was later turned
into a Constitutional federal body by an a4
amendment of the Constitition. 5

Il.  The proceedings of the GST Council will
be invalidated in the eventuality of any
defect in the appointment of a person as

a member of the Council,

IOI. In the event of any dispute between
more than two states over GST issues,
the GST Council has to refer the matter
to be adjudicated by the Public Accounts
Committee of the Parliament.

IV.  The GST Council is required to make

States on the threshold limit of turnover |

.bé'lbw which goods and services may be‘i i
exempted from GST.

Select the correct answer using the codes |
given below :

(1) I andIII

(2) IandIV

(3) OnlyIVv

(4) OnlyII

&

J020800, Bod S8 o

(DZMDSLSeN Tewartn eyaEron ?

L

II1.

20 TS 28 SHAFDS B
TROBDA08, D Sard Trarson
VIO T Io° Trersolf dAFRS Hodrr
NV e BT Tolal

TS PSEANT 4 To TR ¥ S358%
ROHAoBoS WTare %o
ABIBIPIH BIVG TS Ty,
SOETrIeD T2 5%,

BIRVE QDO o S0B IS
TIFe 0G5 BT TS0 S$SAS,
208 TNSSH SEotw  3DE
oFoS) s A%y THye
208 TS 8156 o @603
(BE) H0mBD Boo SO
oIFeRH  ddmyer  Fabsed
SOLNOB, &) 0T XS SNHen

 S6cy  Biow 208 Sob

2D OV0LIS L.

O B 52AS FheH SHB/riod HBS
RPTRR) D0tHEOS :

(1)
2)

II 088w 1
I 00ckn IV

(3)

IV 36835

(4)

11 850
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86. Consider m»@mmmm“ =

I.  The Constitution of India has deb

the retiring Election Commissioners i

from any further app;oihsment by the

government.

II. In ‘Ancop Baranwal Case’ (2023), the|
Supreme Court has directed the|

Commissioners (other than the i

Government to treat the

Election Commissioner), as ‘far aé

remwai;fx‘om office is

Il Since its inception, the Election
Commission had functioned as a
multi-member body.

IV. The power cf\supeﬁnggggeme, direction
and control of elections to the office of

Vice-President of Ind&:s vested in the|

Election Commission.

Which of ﬁw above ::- ament/state
is/are valid ?

() MandIH
@ oy )

@ LiandlV

) 80

2r6e DDde EHESH BowodOT
BEbIO0 S0tbos0s

1 s oerofo DD DB TS,

380 Ehnsbosm  HEheo

DenS0ed S8 dairsgo Babor®
Dadood.

I esrD a8sS B (2029, HED
:no{) Sofod DHhoHoS |Do8cd
EBEBos HD¥0 SVRSES @S

080 KRB FHoT) dITIOT

;ﬁarsm:(} DDoFP W&

sB0000. '

L @805 DdD )8 Hod, J:ﬁ;éei B050
2508 32950 oM HATH0.
mm HEDE A8

H8535 0, OTAZFO HOAD JoHo|Sed
©B5E0 IV 5O EDASH God.

25 (@8 / BEoIeS JB/DD Tvwren
)TON ?

(1) 1005 II

lo_wsrssd

@ IS

4 LIH0oIV
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37. In the context of Centre — State Relations,

which of the following statement/statements
I Punchhi Commission had recomimended
that the procedure that is followed for

the removal of President should also be
applicable for the impeachment of|

Governors as well.
I.  Thelaw that is made by the Parliament
. With respect to any matter in the St;ate

List in relation to the State in WM A

President’s rule is imposed, cannot be
re-enacted by the State Legislature after
the President’s rule is ended.

II. The Sarkaria Commission was not the
first to recommend theestabli&hmntﬂf
an Intar-State Council. > .

IV. Only the Lok Sabha can ‘pass a
mplnt,ian declaring that it is necessary
in the national interest that the

Parhament should make laws wkt};ié-?

' respect to Goods and Services Tax.

Select the correct answer using the codes|
given below :

(1)  OnlyIII

(2) IandIll

{3) H, Il’{a.nd v

@) IIHandIV

120)

37'

oo doworre daapod’, Bos

By ?

L o8 Sofonssh  esnsos
D) K388 ©DIcHIS% Soroe
SQosBAIred Hod ENHS D)
TRod. .

L o358 3od JO0SHAS Ovards

. ®o2080D R Fdesd M-
@078 %020000 &S0
ErPoBODS 3P0, AN TS
S0ADS SorgS oD %‘@QM SR

" mﬁ ©pe Banzsesed. !

L ®088 TR &mm 330‘3@)&

ms S‘&) 4 y; :’“Mf
V. 28ah pErame Syl
SFOD ErPoBoBE0

FANO)

(5303 Bouad) S SPSD
- SIrOHoWRON.,
B3 33263 FBO® SHTrAOD B
(‘wa.‘{il 2D0tH80B :
(1) I Sovedsd
(2) 10805 HI

(3) 11, I S805 IV
(4) I, I 00 IV

A
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S e 60 and Astids 270 O the !

Constitution of India, would be shared
‘between the Centre and the States.

II.  Article 268A and Article 272 of the|

Constitution of India were both repealed
by same Constitutional Amendment Act.

III. Tax on the sale of petroleum crude is|

levied by the Centre but collected by the
States. .

IV. The net proceeds of tax categories
are falling under Article 269 of
Constitution of India, do not form a pai

: §ot§’>o S0k oo
SoDe3E

of the Consolidated Fund of India.
Which of the above statement/state
is/are valid ?
(1) llandIV
(3) OnlyIll v
89. Which of the following statemeﬁb’statements
is/are correct in relation to the Human Riﬁts
Ccmmzsswns in Ind;a 7

o

1L President '
mmrpemn of the State Human Rz@ta
Commission on the ground of wov
misbehaviour. However, the nt |
hastoseekthenpamonof&zes%reme”
Court in this matter.

IV. The National = Human i&ghm '-

Commission is not empowered to inquire |
into any matter after the expiry of two|
yearsﬁ‘omthadateunwhzdl&sact.

constituting violation of human n@t& is
alleged to have been committed.
_Seiect the mrrect answer using the codes

(4).‘ 1,11 and Il-!

[&]

«5%,535 Dy owd
: &om@o& BRETATNISIN
::Mﬁoﬂ‘:a& e
25 o*as';oﬁoé‘x} a0 269 HOO
8ES 2705 Xrd0dS  Hdyen
S8y HosoR 260DS B
GroDHo Bodo HOOH TrY NG
_ Dot od.
I 288 ozroiodd 86 268A
. SB8ckn ed¥S 272 Body &8 orarsol
. dS86 SO o $0° 5CP TOHDFOW.
IL DESOHo Brd o580 Hebd)d
; ?oa_c‘!)o A0S 5V THaAreD SN

V. aa'ﬁié 0*25'50"105‘;% 085S 269 80855
STy HD) ST JES eorabo, e
w @ed Hohs &0 SC.

(2) IV SRS

(3) m;xgé;'b

ESTIOSQ S TENO EDIASOR
5020800 1808, IS / DEesed’
-b&/ba HBID? ~

B £ PXSEN) (ooa,ocaoaé D

o I8
FSD Bod S0 TR Srdd
E0ye NS5 0SB,
S BER O 5020800 FSo Bor
&«ﬁua&;’)o ad) Sgo 8ok

. AEFDEIS @Léaééé B0 oD
:m.;s ma,o 005 TEIBISD
RSB SofosSth). oond &
AaoHos oD Do
Do) BennEad) God.

IV. S7d8 SE0ye SO0MS HSgso
e yASEN 88HoDS 86 208 BoTY
B SRR Soged rSah SIS
S0 EDASH O dhavods T
Drden Do @dsEo BX.

&m 'a&‘);a)éé 3‘5&& SBHTFrHOD DBS

(2) 111 ook IV
4 L1 6as» I




ngéasnoo ‘ (22)

40. Whmh of the following statement/statements | 40,
canbeatmbutse&correcﬂytotheexemﬁ
 Delimitation ? ' '

I.  The principle of ‘one man, one vote’ L 28 DA, 28 Lty oF drdo

_ reiterates the need for the exercise of| 398 5252308 e 9;5;30.&;}' _
. Delimitation. HSDOTEBN0H.
II. The Government of India can set up a| IL 028 TS §Q) orlaren S Soles
Delimitation ~Commission for the T8 ogo (UTod' FEDoerd
purpose of delimitation  of Yoo @"?{)OQ RAr2EST e

Parliamentary and Assembly | R
Constituencies in a select few 8 : lg&é)éjo D0 5BS  EMASD
UTs. : ;)tme.n TS,

OI.  The Delimitation Commission can qnly - IL S0 geses _ SWAS @i&%

recommend the re-delimitation of| < TEJod  HBaw wa@@ -
territorial Bariﬁumentary and Ass@&iy el mﬁq'o eaaa;ga;mé:» SreEd
Constituencies but cannot recommend| VFBH  Baviteod s A9

éoeren :wadin .1(5?;@ 8o L

on the reservation of seats for the

w Wé s0mas

i mm’dﬂwmuy for the Delimitation S
So0@e5 TP 1590 S00% a*x-m

Commission of India is the Ministry of |

Law and Justice. | s e AR TR itk
Select the correct answer using the codes| A RS 5DAS FBOD GITBrAOD DB
given below : _ RS JotHEod :
(1) LHandIV Fn LI 80w IV
(20 Hand Il @) T SH0ck» I
(8) OnlylV : 3 IV

4 LIIDandIV 4) L I8cw IV
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* to India’s Foreign Policy :

a

India’s Act East Policy was origina 'lly'

conceived as an economic initiative but

had later extended into political, |

strategic and cultural dimensions.

The ‘Connect Central Asia Policy’ .
been taken forward with
institutionalization cf the ‘India-Central
Asia Summit’ mechanism. '
Under the ‘Security and Growth for All
in the Region’ (SAGAR) P_c;li;cy, the

DRDO initiated the Marine and Allied |

Interdis@?hnary Training and Research

Initiative (MAITRI) for the purpose of|

establjshing long-term  collaboration
with countries in the East Asian region.

India’s ’i‘hmk West Policy is an outreach

to the Western Industrialized nations|
for strengthening of relations in areas of|

Which of the above statements are valid ?

(1)

Iand II

(2)

@

(4)

1, I and IV
IMand IIT

111 and IV

(A]
FOll ATV DOWOHOD

1808 (HEOSOSD HOKEBOSOB :
L rosBfo TG orf &Y dod

TRV ¥ SV 2rDOVRR0B,
v SHos o2dodh, e
SHBoL Doy B FerereS's
JABODOB.

QOBOST-58 SRS FPHOT DY

ohoEroio T JOTHBES S’
ST OIS SR JOV’ SOV

- B%ITR08.

oo’ ©0B0s HES HOA

| 308 (SAGAR) S0 808, &r&)

SDOS [rosoS'R Brod HFsO8
JETOR), I6E0TS0 590 DRDO
JEDVIG B @20  BOLE
A6  |BAOR  wobs  SIB)

. BRATHES MAITRDR (@rE0D0N0E.

rESSio BE); Ho§ IR Jod
oFO DB HOAH SEm doros
sowomred aShio JohmRs
)85 OFRS Bros SHR0s.

P EGSOS" DD Tepertn esEran ?

(1)

100 II

2)
@)

(4)

1, I S8k IV
11 SH8cs» I
1 SH8Ss» IV
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42. Which of the following statement/statements

43. In the context of .Central Government :
e, nic of  following|48: o0l Y é&f&.‘n‘o 20855308, 806

can best describe the nature of security

concerns/developments for India ?

1. The development of the Hambantota
Development Zone can be <een or viewed
as a policy of containment funded by
Pakigtan.

II. India’s support in
Chabahar port in Iran may serve as a
strategic act to balance the}
Chinese-funded Gwadar port in Yemen.

III.  Indian Ocean Rim Association (IORA) is |
an extension of the Economic and Social |
Commission for Asia and the Pacific
(ESCAP) and serves as a platform for
maritime security.

IV. The Malabar Exercise is connected with

the Quadrilateral Security Dialogue |

(QSD). _
Select the correct answer using the codes
iven below :

(1) OnlyIV
a) None

(2) IIandIII
4) Al

programmes, which one
statement/statements is/are incorreet ?

I.  The objective of Pradhan Mantri|
Anusuchit Jaati Abhyuday Yojana
(PM-AJAY) is aimed at reducing poverty
of the ST communities by generating
additional employment opportunities.

II.  Under the Pradhan Mantri Shram Yogi
Maan-dhan Yojana (PM-SYM), monthly
contribution is payable by the
beneficiary, the State Government and
the Central Government.

III. Under the ‘FutureSkills Prime’
Programme, Centre for Development of
Advanced Computing (C-DAC) is the key
implementing dgency.

IV. Mission Karmayogi comprises of eight|

key pillars that are intended to create
functional and behavioural competencies
among the civil servants.
Select the answer using the codes given
below :

Q) __Iand IV (2) I, I and III

(3) Al (4) Only II

(24)
42. 508 1980 / PEdISOS DD a_:-aéaa-ag

building the|

}:i. DTS DO (Fo eh

f”;_'s'-'_:

D020RONS  FBE  Hadsenss

T30 D32y erédsomr De5box

L JoassSe BSODZ0ES 3‘5
eDIIED FEFS ddven JHErB)
QOO DESOM LSS,

I 2088 TRIE  2.68:59%

NBI05GB0S’ 2rESTH0 B} B
DHSSV  TI-VDOS SrdS
B350 FPdH SDehoso ToHrds
oI55 5 LSBT OB,
O 208008 438 85 oFVTHAS
(JORA) &30 &SRO HOAD HDE
0 @08 S8k ErRE EMAS
(ESCAP) O3n8) &8A0) Hdo
DAL B350 SOFT HATW0A.
IV. Doard 010888, DA VeV
HSe HogrHes {QSI})&
LOR P Tela s ToThATe ToTal
&r‘i}é 'aé,sa)&é ?50:6) GITrAoD HJS

(2) Hmm
4) ®J) -

(RELS / [DIOLSOS” DO/ $a9)?
L Dod HoE@ owdE =8
@2 TS (PM-AJAY) ©fs0
BB GO BSSTOM HIROBBO
| oS0 ST S50 DSOS 6@‘}0:565@

arzs (PM-SYM) 808,
oR (DS 50
PeS0 i Io;d :6:3'8'60
3Docd. %
L Srsdbnd) 1 sdgsso 8o,
VowE P BI0dDod &d
oS8 $03°5¢308 (C-DAC) &30
§05DS DO @HNJBT SoP.
V. &8 dhes |Soiré Hoaw
@S8O W@é}&)
AF0DS AW SreQoTred ¢
DAS. EE; T30 EOR GoLnod.
OhS 355088 Thod asTriod
DT, DOHTOB :
(2) LI 00 III

(3 N 4) II @a’wo
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44. In the context of the enactment

is/are valid ? :

1. The Appropriation Bill carries an|
automatic repeal clause. ;

[I. The provision ‘Vote on Account’ has
become ineffectual  after the

ing of the budget cycle from
of February to the first day

i Nu-i&i to either Pejecg Wreaucea

tax can not be moved in case of the

Finance Bill.

IV. The expenditure charged on the
Consolidated Fund of India can only be

discussed.
Selectth&wrmctanswerusingthem_
given below . _
(1) IandIV (2 IandII
(3) Onlyll

(4) OnlyIV

Gwernmt"ﬂills at. alliime,s

II1. ‘ Iad:an_. Premdant W .‘Pocket_

IV. The objective of the veto power in being
conferred upon the Indian President is
to ensure a system of checks and
balances between the office of the

".Premdmzandthatofthepawcfthe;

Parliament.
ISelectt}woon'ectanswarusmgthemdes-
iven below : :
(1)  Only ITI 2 I,HMandIV
(3 MlandIV (4) OnlyIl

“ o35

- eden A’)odé;;@@‘
L DERSNDERSST DO 3@2:?@
)00 ?

L Seronod Dep (588 Ihah D)
JsopoTed 6 Jdodss 3O
GOLN0D.

0 D256 %8 8z Hod Do
s B8 8% 238 PES
B-228r5sO0R S0 .S el oFody

- oF D05S edhgorr Srdod.

M 2oS) O Ao  HW®
8858058 Bor  SNoSEE

_ DB S$EO0DB.

IV. . 2r68 S5O B8 Dod B Q0D
Sg0%0 G50 HOOD SF| D éﬁ,}f}rﬁzézﬁ»g

&ﬁaé aﬁgeaaé g‘&o&m AHBrROD ABS
: O

2) I6cin 111
4) IV S

8 T AHS HE' ©OHToNS $o020H0D,
808 (D80S / L:aéeqn‘éoé‘ DD Tevered
©HTOW 7

L 2rds oaonas H dve ;mo&oé’

GRS DE® G085 TS
Deve Dhohod s,

L ads o asd o) dsorg
D206 s DEVOK BOVOGOD o
HE*S mwmms‘ama

L s ol 88 DHE
DESOZOT ©DBITEH, ©oNS
ODOES (RVFOD ys@@& 2)95‘20
508 aoerd.

IV. 2rd¢ O ades  adsasd D&
wdTE0 & ©E50  ORos
SOOONO OO  FQIOLN
@osd0 s [los  HdA®

27BS I S5SRa AFOoWS0.
&ﬁ}é 25508 FHOLH GIAFA0D OB
_U‘@ 0TS :

(2) I, 1005 IV
@) H3%5e0
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47.

With reference to the Ninth Schedule of the

Constitution of India, consider the following
: .mtementa i
I. It was intended to protect Central and|

State laws that are included in it from
Jjudicial review on the ground of violation
of Fundamental rights.

II. The entries included in it are not
restricted to the subject of land reforms
and abolition of the zamindari system
alone.

II.  Article 31B carries a retrospective effect
but it has ceased to be operative after
the LR. Coelho Case’ (2007).

IV. The entries incorporated in it are only
done s0, by the power of the Central
Government.

Which of the statements given above are

correct ?

(1) IIandIV

(3) ILIIland IV

India’ are two . distinet and different

expressions due to which of the followwg

reasonﬁ*easons 7

L The ‘Union of India’ includes just Stntonl

and Union Territories while the ‘Territory
of India’ includes in addition to States
and Union Territories, those territories
that may be acquired by the Government
of India at any future time as well.

II. The expression ‘Union of India’ is
mentioned in the Constitution of India,

but the expression ‘“Territory of India’ is|

not found in the Constitution of India.

III. The First Schedule of the Constitution of
India is with reference to just the ‘Union
of India’ but not the “Territory of India’.

IV. The Union Territories are covered by the
expression “Territory of India’ and not by
the expression ‘Union of India’.

Select the correct answer using the codes

given below :
(2) OnmlylIV

(1) Onlyl
(3) IandIV @) 1,1 and Il

(26}
48. 8 TrioloS’D SBS

) 80 IV

(2) L IIandIV
(4 IandIl '4"-

The ‘Territory of India’ and the ‘Union of |

%&més’n

Do2OHOD, 808 (HELSOD

L ad rdDE e &OodH
D JHNE od oSt 3&
B0l¢5 080k 7R HEres e:s&o&a-as

FosaBod.

II. R0S’ FotHSSDAS Joden Exe0
B0 Smen SHBAD BoEE S359
5CP 0T S D HOMS0 B,

L35S 31B 881M0s |Herdos O
€08, ewond 28 IR §&S’ T35y (2007)
S0° 58 HATADNBO A oNod.

IV. 30608" Fotoddsads Joeden Soigs
PS5 efTdo oot S
Tavaderaw.

RIS (HEOIOS' DD $BSY ?

(2) LI Oas» IV
(3) LIS IVIE) 1080 I
DL @D BT HOA ‘CrRAHS
¢ 20805~ (808 J FERSSETL NYS)

ok DDHNJS  HO DS
S5885en ?

1L ‘ohrANS eq) @o&o‘ir’ 'ééeso

B~ P P A «zémeé‘@a-
oS (Dabeso B0 BusHhe
W@é}&@ﬂ&o@o@

I COrdohsS 6 208057 & .

386 Trargoiod @Q‘Do?&& !
258eh 50’ eF S £
oargofiod & o VK.

I 2r8e8 orarsofioS' e mé
3500 ‘CrdoHS & R08STH
DOVOHODIE A erdS Srernio’
5°C.

IV. So8rOe (@rowen 2rds &rario’
o3 38550 oo 5.;55; Tovagon
SHBAD ‘ArAOHS & RO( _'

358566 o 50° s°¢%. ' :
BI0S BS520S FBOSH SHAFAOD IBS
JSrTTR), dotHFodh:

1) I3MesD (2) IV Smessdh

3) I0ci» IV (4) I, 1605 1T



48. With reference to Indian polity, which one of

the following statements would you accept as

appropriate ideas referring to ‘Equality’ ?

I.  The primacy of equality is safeguarded,
defined and enforced by the courts of law
rather than by the Cbnstituﬁon as
conceptualized by A.V. Dicey.

II. Article 14 of the Constitution of Indm
constitutes only the concept of ‘Equality]
before the law’ but does not mention the |

concept of ‘Equal Protection of Laws’.

IIl. Article 194 and Article 361A of the

Constitution of India m’indicative of

IV. The theory of equality includes

distinction of merit but not distinction

Case (1995).

Select the correct answer using the codes
given below :

e e i B T A T
(1) IlHandIV

(2) landIIl
(3 IHandI

4) IandlV

(27)

(a]

48. 238D w&o&ro@ HowoRod, 18od

L:ase.;,wes‘ BAD D% DI 50D

Arody éﬁéwém @ohEOR S ?

L.~ AV. @0 orso° aréé Qed”es 0 ANE),
' e orergofio o foc sSvore

TEOHT R OT H08 osechéosd,
AGDoB2B0H  HOGH  edew
Dohachehod.

I ds orersooS'd @85S 14 B&o
&‘i%acéa DIrSS0° OF  TNHS®
S ehed $O8 40 O SO AT
B89’ 4755 (DT DOBBE.

I 2r8e Tersolios’ ed5S 194 80w
@Qﬁé 3614, a&‘ééﬁfé’oé‘ PONVNTE el
D030 FET VIV SrDRB.

IV. J5rde80 OE) VPPoso T3riiged

gy o) $O8 Gotwod R
arerd 0‘;13255 B0 (1995} orgo°
SBFBOBBE So¥rE050s
DEHDen o (DPHO  sdwom
D300 57,

BIHS A5 288 FhOD GIBrAoD B
JBIPR), JothEod :

(1) I SHOasw IV

(2) 1000k I
(3) I&Hécsw I

@ ISHEOHIV
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e

Which of the following statement/statements
is/are correct with regard to the Fundamental
Duties ?

1. Fundamental Duties are confined to just
the citizens of India with the exception
of Article 51A(i), which is also applicable
to foreigners that are resident in India.

II. The Verma Committee on Fundamental
Duties of the Citizens (1999) had
recommended the implementation of the
Fundamental Duties irrespective of the
existence of legal provisions.

III. In ‘Kesavananda Bharati’ Case (1973),

the Supreme Court of India held that|

the Fundamental Duties may be used to
decide the constitutionality of laws that
are otherwise ambiguous to interpret.

IV. The Sardar Swaran Singh Committee
had recommended for penalties to be
considered in the eventuality of
non-compliance of any of the
Fundamental Duties.

Select the correct answer using the codes

given below :

(1) IIandIV (2) IandIll

3) OnlyIV (4) Hand IV

With regards to Directive Principles of State
Policy, what is the correct chronological order

in which the following additions/changes were |

incorporated into the Constitution of India
through amendments ?

I ’iheaddingofaaecoﬁdaspectrelatingto
Article 38.

II. The changing of the subject-matter of
Article 45.

The adding of Article 43B.

The adding of Article 48A.

111
Iv.

Select the correct answer using the codes
given below :

(1) LILIV, I

(2) IV,LILII

3) IV,ILLHI
4 LIV,ILII

(28}

49,

@GS Do  Jo0HoD  (8od

(DELMNDELSOS’ DD HBID ?

L 388308 dIVoT Dﬂd‘moe’n
Sror $008 w08 51AG) DS
PGS e BHe0 2rds D hesd
SMSDH 560 Javag ow.

I D00 ([ONE DO S8 e

(1999) SHHSEPS dodde GIES

DOVOB0 BHoo@ rPHDE DO

©ED T DI TS,

BErS0S 8y 3 (1973)°, orded

855y & OV S0, g0

SEIEVE Soddorr &Sy Sére

(oo TaEA A B QPO

BRSO GRTPACLISI N

8%00.

JTE 565 ol ¥ IF~

@EME o FBosd HEos

ROITTOD HOKHISE BETOD

D) BROO.

O adds Fhod aHEriod JBS

QTR oo ;

(1) HIN8aw IV

(3) IVaried

(2) 10005 II
4 11 H8asw IV

sFBWIr@oORHN  HoOHOD,  SSBLe

- orgor G oergoliods® 1808
TS yeV/ETE e BEJES SBS s-o{géao
Aes ?

L oS 388 $02080dS BodS
®0R) SB0G0.

I &Q5S 45 E; DACHO TIEy ).
«95S 43B £80H.

IV. @83 48A £ @oS¢Go0.

BHS BIJDES FhOD GHTriod B
DIreaR) dohfod :
LA
IV, 1, I, 111
"1, 111
LIV, 10, 111

(2)
(3)
4)




; .’I‘he Supreme Courhm the M‘inma %iils

- importance of harmony and “balance

between Fundamental Riﬁms and |

Directive Principles.
IV. The present interpretation m&% e
to the Fundamental Rights and
Principles is the same reiteration
principle that was first propou
the Supreme Court in the C
Dorairajan case (1951).
‘Which of the statement/statem
above isfare incorrect ?
(1) HOIandIV :
LI ahd v

@

: -'abwe is/are mwt ¥
1) HandIV
@) IandIIl

" web 310

Case (1980) has considered the|

. O3nE) 5863 ﬁéﬁaém S
TG HOBBoD0G.

2S0°g Y B (1980)° ohos
(ODE TEen HOAH e
.-233‘1_@0 DBs FHGHo  HBAW
'am&m,sé TS ErSopss

8;5:3% mg,m SOk T3
& HOVOHOD (DS DSV,
5 8poas S 195D
mw Léé%oﬁ)é

Z"V 0‘1@'&)6‘ A0S a’noda@ 2}0",}&» Sor

5 §‘<ot:> TS DSorS s 3680
DSBOTTOR &Qmomm @235 Q8
2 m&&a‘&m éc‘gwa;
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53. Consider the following statements ab&wz the
'Bmsmm of the Constitution :

doeﬁmne of the ‘Basic Structure’ has
ated into the Constitution’

Pmﬂy, the Parliament under Article
368 of the Constitution of India can
amend any part of the Constitution
without affecting the ‘Basic Structure’ of
the Constitution.

HOI.  Parliament’s limited power to amend the

Constitution is also an element of the

“Basic Structure’ of the Constiwtion

The Supreme Court in the ‘Kumr
Padma Prasad Case’ (1992) has declared
that the mandate to build a ‘welfare
state’ is an element of the ‘Basic
Structure’ of the Constitution,

Which of the statements given above are
correct ?

(1) 1I,I1andIIl

(2) II,IHandIV
(® Handmm |}

4 HandlV

54. Which of the following statement is correct|

rem:ﬁxag?aﬂmmenmﬁwﬂma?

(1)

privileges that are enjoyed collectively
by each House of the Parliament, and

not by the Members individually.
Only Members can be punished for

contempt by reprimand and admonition
but not outsiders.

The phrase ‘Breach of Privilege’ has

(2)

3)

wider implications than the ‘Contempt

of the House’.

The Members cannot be arrested during
the session of Parliament but this
privilege is available only in civil cases
and not in criminal cases or preventive
detention cases.

4)

{8380)

Parliamentary  Privileges are the.

53. c‘a‘soﬁo C3o8)y LMM ﬁ%@m «’i:@aa
1. ‘LMQJQ .Oo'gmo o3t

FODotn  SYo o so° s
orargotiosS’ odnssntosd.
0SB0, rES oarsoiosD elsS
368 (D580 TDotn TErsoRoS D
Bra0s QU0 S LANTS)
Srdfom  oErsoios'D e
TR, VS80S,

250 DS80S
OO &F) DOWS eBSEo
S oergofio AhE O
domwod’ o8 @odo.

Vo8 o)’ A oTeT edio

I

| DOm0l 1 PENE oo 2k
BOIND DATE 55 OE T

: (1992)8° DOFP (95630008,

@A& DS (DEGSOS’ DD KBS 2

(D -

LI &'))6(1“)1) III

e {4).;_

|54, 521‘62339636 BOST R :aoaao@@a 808
OB (DELS N B

f‘iP FOoerd ez@weao @oﬁ»

FEDoLNSD 118 Hs8 éaaam- &os
©{some, HHsen 5;&{%&0:?5'@
: - 503D0DH SO GaGTe w-_so'
T Qo8 :ro_)m Qghgexn
C s Wosased s-& 205H¢3
Sg8hen 5. i
DS 69 DTS oF moéo
TR 8 & H5 60 FR s8D &
$0BaD),) oo :Jégé@é a@.\z,e.)rﬁ)
§OH &od.

JFEoLD  dArITo K_ﬁ&'xmocﬁ‘ :
DO ®B3Y TohSDH D &
PSS oy IS0 IS Twod’
SPSD eocdverend
3D BSS Sxnen 'é‘)‘cs- Lm
SRS Bved s, :
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55. TheequalstaﬁwoftbaRs;yaSabhawﬁhthe-&.

Lok Sabha can be described by which of the

é‘ﬁwé' T235025%0 &m oD 80

following statement/statements ? » @é&&:ﬁ_&&é@ o gor 3)5500:1’)&56&)3 ?

.  Introduction sage of Money Bills. L 59 Deve 585010 SO STrSo.

. Consideration CAG’s report. I CAG dBOED HOKSS'S Bu8sco.

[II. Initiating the removal of the L. &JoADS é‘oﬁo@%a @rsodosso.
Vice-President, : V. o*&}@a o300 SIrd 550 PO

" e @ peser

Select the correctrg?:weryusmg f.he codes Bt '&&’)3&)&&5 yﬁ&‘m &Z)ﬁi}‘ﬁoﬂ et

given below : DIPTR) dovFod

(1) LHland IV (1) 1,11 580 IV

u.n II and IV 2 1158050 IV
B Al 3) @)
(4) Onlyll 4 HI33e0

Which of the following source/sources of

revenue qualifies/qualify for being given to the

Panchayats ?

I The tax proceeds that are asszgnad tn
re-distributed w iiie Panehayam as

808 eToh SShevsreros 6

J0roHBOH VSIEFNE  ©fs / wdSs

Food?

L Soiso ok oo ares Seranotndes
D) SrESH ﬁcté 2OS) EDAS

reeommenééﬂ by ‘the Central Finance 2P Tes - ddom 29
Commission. HOTANBOK HoVE TeHS).

II. Loans from the State Government. II. oo (02050 Do Soeren.

1. Under Article 2431 of the Constitution| 1L 270% U2rjofioSD  eQsS 2431

of India, the State Government is|
empowered to devolve its own funds to|

the Panchayats even in the absence of

the State Finance Commission’s|

- ¥s°0%0,

cm%} S EWAS dardyen
mméoéo S5 Do

L es  sodbd  Dabhadd  oua

S 1D2HEr 8 dsso &o&

2 m’ Em“" a: i = V. 985 2GS Dsdo  ndard
facilitated orﬁy in the case of Pancﬁayats @‘M &0 mae}
situated in Scheduled Areas as per the DIAPOS’ SrSH ®OSGS S
Fifth Schedule. &8 DOPSS0 TAHADE0D.

Select the correct answer using the codes BHS BI50AS FhoD GITrhod OBS

given below : ; JIFTRR) DotHFod :

(1) I, IlandIII (1) I IS8k I

(2) IlandIV 2) H0awIV

@) Onlyll 135e0 |

(4) None (4)
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57. Con

(32)

followmg
(R) and choose the correct code :

with their own resource
" , the Panchayats at the village level
are better placed than the Panchayats at the
Intermediate and the District levels.

Reason (R) :

58,

The Gram Panchayats have their own tax
depend only on tolls, fees and non-tax revenue |
for internal resource generation.
(1) Beth (A) and (R) are true, and (R
explains (A).
not explain (4).
(3) (A)is true, but (R) is false.

domain whereas the other two tiers have to|
Code :

(2) Both (A) and (R) are true, but (R) does
(4) (A is false, but (R) is true.

In connection with the lapsing of Bills, which
of the following statement/statements is/are

valid ?

1. Ifthe Lok Sabha has passed the Bill, but
if the Bill has still not been discussed in
the Rajya Sabha, then such a Bill does
gm m

1L Aﬂsﬂmmmadhythef’mmdent for |

* reconsideration of the Houses will not
lapse.. However, the Lok Sabha should |
not have been dissolved by the time the
Bill is returned. :

III. A Bill that is passed by both the Houses
but pending for President's assent will
not lapse.

IV. A Bill that is pending in the Rajya
Sabha but which has not been passed by
the Lok Sabha will also lapse.

Select the correct ‘answer using the codes

given below :

[m y (2) I IlandIV

8 HandIV (4) None

En

Assertion (A) and|§7. 800 GydESL (A) HOAY TEWO (R)

Sofdool  Hoc  ¥BS  EBD
~otusod

(95O (A) :

Fod SISO VEBRH  Hoodod,
2000A0HE DO B FaweS'D
Somrab&e B I o
JOTTFADHBen DO ) on.

SO (R):

e JoTTanSen T8 HI0eh DY TE}
QD SO Gotron, sand SE Bo
BOT) oSG SSKHe Beé)e §Ho &S
e, deren DO J0)TheS Tl
SIS srsHaTd.

£8 :

(A) HOC R) Bodsr V=0, HOAW
(R}. (A)Q aéé«})o&

1)

(1) I S5

2) (A DO (R) B0t =0, ;’n@cﬁn
(R), (A béaoaafm

(3)  (A) A0, ®ONS (R) &),

4) (A&, mé R) dzo.

58. Do Folio So8 B eooa)of,)oi)

808 (D5LS / L::se:m@‘ O Bmaa'e.n
YT O ?
L 83 Dedd sFrBoDT, oo
- DD RO BG) BOHESS, werod
De QDS s° .

L 30 H:00908 FHo o Rnd 8o

HoDS HeY SnHoLe. eond, Den
BN 3TF) SHOVE SEIE  5&
TAhB SOBEFSD.

L ASeD dPen eIrdodSHe3s
ORI eIrdo FHo vodohs ds&’);
DY SA0HE.

IV. 0725086 20BORS’ ) 0 808
s3rE0 FoSD Dy o 6K
)00, :

AHS ASFDAS FHODH GHFAOD HBS

JITPTTR) DONE OB :

@ 1,1 5805 IV

@ MBS

(3) Mdcin IV
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One of its functions is to communicate
-its opinion to the President on subjects
relating to legal administration.

Its reports are not submifted to the
Parliament.

It has no suo motu decision power to
undertake research by itself. .

1L

Iv.

Select the answer using the codes glv’m .

below :

8]

2
{3

4)

1T and ITT
Only II
All

1,1l and IV

60. Which of the following statmmﬂstatemeuts

is/are valid with respect to thel-‘heamkie of &ae __

Indian Constitution ?

o Saiiptan e e
orsgmally &enote&:% &gmty
afthem&mdualon};y
Select the correct answer using tiw codes
~_ given below :
. iE @nIy‘I
.2 H&Mﬁ?
-

Qn;yw

wozw&oa Sod

DA &S @@@b*o‘ém'{};
| BOEHE0 &a :sané‘ 2,863,

L 5383058,

2’9’{:}%% Srobor HOFGS FHHs
L HIoDODBIB (Ardrs YArGs0

é;aééfs&)&é FhodH GIHBrAod
g-ém‘:&a?oé:

@ g&m&mw
m M oresoti %&é){_ﬁ)ﬁ% 5 HonodHOoL
: (SVEATN

BrA0DS. (DT gads o
FOCHO 2o HOO
@‘J;é)ao SO00E.

: "‘%“La,?e‘;‘:gé,so ©
Qe X8 & TSN

93?{50
S0 ad SrON06.

Fh0SH GHTriod) JBS




65/16/100 (38
P P o hent Ay, SOl _
Indian and Andhra Pradesh Economy and | 208055 €08 wol6 ¢
P 6l 283 seoos,

181- ¥

1 t times, many leading &genm have
reaﬁrmd high - growth for

the Indian

Economy. Which of the following
statement/statements can be the best| .
reason/reasons for India’s projected high
growth ?

1. - Strong Private Final Consum;mcn :

' Expenditure (PFCE)

1.  Government’s shift of focus from large|
capital expenditure towards pmrate
investment

II1. Increase in domestic air pwsenger
traffic along with a redue‘hoﬁ in the|
volume of Fast-Moving Consumer Goods
(FMCG) '.

IV. Fading of the El Nino oscillation and
better Rabi crop prospects

Select the correct answer using the codes

@ 11and I
(4) OnlyIV

Pammts in E&ia,

statement/statements ldmwahd?' foHowing |

1. Promotion of Digital Paymen@
transferred from the

Electronies and Information

(MatY} w__--the Department ¢

11.

[ ‘Helld UPT is an Al voice-enabled|
payment feature built by a consertium of
private sponsored startups recognised by
the NPCL

IV. ‘UPI LITE X' addresses challenges of

remote areas by enabling offline UPI
-payments.
Select the correct answer using the codes
given below :

(1) LIlandIV (2) HlandIV

|62. 33'668«§ oeS°

S @O IIP%H @B «?&a@&
HIHTBocron. FrESEI0 ®osH IS
@O 5908 1806 (HELS / (DL o O
&é:n 5880/ 5ere) 5Tl ?
L 2038 (RIS HA AT éso‘bo
(PFCE)
L (DZ0S 550 DG SredS S5050 0d
LR35 DePad 3 Soa FBotto
us BN B DI SNHen (FMCG)
38570 $HoHSE e BIOH s
| Posrsie 8 DHHG®

IV. 26 dS Bod §meé HOa Dokis
EDBoETR 85704,

&i‘b«‘é @ésa&é ?5@&1} &é&*ﬁoa DB

(3_} 1., 11 < 6.,_;;:

58050 BI0N w;éaeé S0l ¢
7D (Meit¥) 008 688 Ve ﬁ%&§
260 iﬁeﬁna&ocﬁ

&)@q}on" :
QS S é&é@
WSt UPP o360 Fasd Bdod)
SEBAS @D odar (NPCDT
H8os&S L‘iﬁ& @'&T’\mé 3 :
& y80%0 oro° ErroBoNHAS Al
EREN ﬁ)ém,}} - TONR T2
20 HSB.
'UPI LITE X' &DS8S UPI (b
Do) WoLEDR) 8@0@&@.
dSodosdo oo SrHhdre
oEre) DD HOILON0B.
&HS aHsdS § -:&%‘Sﬁrﬁoa KBS
JrTTR) dorhfod : _
1) LHIS0A»IV ) III&!

(3) Onlylll 4) TandIV-

(8) I Sred
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63. Tom&mmlmd:{ahastumedouttobea
~ service sub-sector. Which of the

~ statements are valid rega:dmg t}:e 'f‘
seetoa‘mh:ﬁm" -

India a one txﬁi%n t’aﬁr; tourism
economy by 2047 with 160 million
international investors.

I
rapidly increasing alongside a consistent
rise in the average daily rate and
revenue per available room.

1v.
Index (PMI) has been in the expanding
zone.

Select the correct answer using the codes

|64

given below :
(1 Al {® T M and IV ]]
@) O IandIV 4) TandIV

64. The Interim Union (F’?%) has|

proposed mmatrm to: boost anmfs Green
Energy

India’s Green Energy ?

I.  Viability Gap Funding (VGF)
utilizing solar enw ;w@m

1.

‘D LiLOTadV

The Hotel Occupancy Rate has been :

India’s Services ?mhasmg Managers’| |

.  Which of the following _.
proposals are emacteé ‘with éevelopmg

> M@& Soto §o5S D &D

fe . TESTIOSD Horgeos

' M;@; JSoncHod 1808 1R8OS/

| HE0S0S DD Tevertn BN ?

~ NIDHI &38 esac,&;o SHO Dorsead

(OS7165) DOFDH DIOD BOAOSTIE

GTR0OS FoTBE 0 5553,

2047 €38 100 DOHS SOSTBAD

BEP2ATHOE  rESETY) a8

BOHS USD &rdzo @S Sgdpm

Sroe IO (D206 50 DoEO oD,

HE Stien Sarard Ben H8ck eoderend’
&S) 668 3By emrahod @o@é
DBHSOS Fen UTLOS  eix
Bew Stior DHHE0S.

IV. 3288 D30 FHffen ahasrde rdE
(PMD) QR80S), FSS' wod.

ma‘s BS500S Fhed GHRrA0D B

PR otHE oS -

1) ) |(z) L1 0001V )
v

{83 1, IZI o‘;nﬁd’m

M" 'éotfé 2B (FY25), e,r@éﬁ%o
& S 38 Sordy L@‘éﬁro«ﬁw&?ﬁ
SEHESTON |DBFE0N0L. odTES”
m;’ﬁ'&&%m z,rcséa% NS 230 e S
0@ Tobdos edBoERotb

L

IL.

& '§§ 1@%@0& Qaamo:mg‘éwxﬁ
SCDOS ¢S HoAOE (VGF)

2030 38 100MT S mRDBAS
S0 (SDEGR DHFTIV)  Doew

@é‘.’s@a‘o‘s S SO ag@
5S  mgR (PNG) £50, So2o
TeSS 3R (CNGIS' 30D 2GR
_ (CBGD o Eorr §dd0
IV. 28R oifdS dhoEre 1SS0
" @388 J3*aHo ®odotddo
V. B30 #8 o008 SWHe $ard
35558 DHBoERE B3OoNH e
SERRD DO°YEN TANSO
- OHS aS5088 TN GITTA0D IBS
JIrETTR) YothEod ;

(1) 110, I Sdcso V@) 11 SH8cn IV

@ Luatadv {4> Ty

3) LIINBO®V @) IVOBAs»V



66.

- Assertion (Aj:.

Tax reforms dn‘ect.ed Wﬁmﬁiﬁ a Wﬁ W
system will result in positive pmductzﬂty

W’t growth

simg éec‘ime in India’ 3. merchandise

{3} .

4)

. :333&8&31113 commodity prim with

Increm 0 serchsmdios exports and ]

imports followed by a decline in net

Growth in world output oatpam% &w

world trade volume

ST HHHO dri)&ﬁae‘ﬁm ég@
oo Shod

DEHKS) DH0LS MS b@o‘@o
$6en DGHGo

Sgoe o)fb:nénw  Soda
A BN SHod I8
Do shened® § e

D0 edesg a&érw&); ©HHOT)
L;’ag)od) &S5BS 598

& (2)

@

| |66. 80 égﬁ)éi‘iw (4) 2O $ER0 B) O
Consider the following Assertion (A) and
3 3 %ﬂ};gadchoosezhewnect '

5O8BoS0s  SHBaN B 9B

' gmwth and ml oyment|
growth ing deadweight costs and
reduce in resource allocation. -

Code : ’ .

(1

Bah (A) sidl (8 are Gie Ahd O
explamsA

@
@

mm) and (R) are true, but (R) does
not explain (A).

(A) is true, but (R) is false.

(A)is falae_, but (R) is true. ._

(1) (A DO (R) 30&3)" aao BNV TaToven)

{R), (A aé&@o&

":'f'za; 2005 (R) Bo&Y, ¢

(&) dzo, wowd m)*f 3
(A 8%, wond (R) deo.

@)

3)
4
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(37)

67. Which of the following statement/statements|67. 2BaH FOE dehraire. POBS @SS

is/are valid regarding the National

; line (NIP)?

1. NIP includes only economic infrastructure
projects but not social infrastructure

projects.

projects alone. Brownfield projects are
excluded from the NIP’s coverage.

IT1. NIP aims to offer investment opportunities

in India’s infrastructure sector, and to

attract investments into India.

instead ‘Invest India’
facilitating NIP.

Select the correct answer using the codes

given below : —

(1) I, IlandII
3) HIandIV

Consider the .\ ﬁlowmg
Reason (R) and choose the w i >
Assertion (A) : .

Majmtyofthenportedhmnomm'

e-NAM are intra-mandi mstead of inter-
mandi-and inter-state. :

Reason (R) : '
The Agricultural Produce and Livestock
Marketing (APLM) Act, 2017 provides for

progressive agricultural marketing reforms|

that include greater focus on mtrawmnndl
transactions.

Code:

{1} Both (A) and (R) are true and (R)
explains (A).

2
not explain (A).

(A) is true, but (R) is false.
(A) is false, but (R) is true.

3)
4

NIP is aimed to focus on key greenfield|

. India Investment Grid (IIG) as a platform
has ceased to facilitate the NIP and|
is  presently |

Both (A) and (R) are true, but (R) does|

ASTPEE DOBSHNIPE 5020800
1808 (HES / @gmoes‘ DO/ Tewaren
YT ?

I NIPS® 08 508 Sdhdosre
TEH SrSD Gotran O FSrs
SO S sre (TR S

NIP $500 §08ps (BSHS >afon
Som DRG0 o sor DEPH0S. 1T
99 @2fen NIP 53585 Sod
PAVINES oW el AT oWl

L. 2r8s8% TO85 Soarosre Sofos

II.

VEPDE  BIFTOD  ©OBOTHO
DO  rESTIoSE VPO
e88015¢0 NIP ©F s0.

~ IV. 308ckr a3 seodl A& JIG) I8
NIPR vodiéso Tohdo shidfoanod
O ARAE 2x¢Denrr VI ROBAL
BDS0 NIPR dedisso SFos.

BN BRI §OAS §‘d§e)r‘6:. GHBPA0D B

BIFPTR), SO
. (1) LUk M §(2) I Srigdsd
(8 I 80 IV . _

%& 808 58 (A) HBAL  T8Wo (R
SBiBoSod HBck - /Y FAD
- dotsod :

SB35 {A) }

eNAMS' QB0oads eroBaod
8035 70, &oéea DHG; B0
o3 S¢55 £0t 0B e aSHEw.

560 (R) : |
SISCD SO HBAW  DHIODS
Ara;,e&e?’i (APL'M) r.St‘.;«o, 2017 Hodk
5O eraddeoD S SN O/
&otd L;aesa%o .;s;;s:a-em S38).e30f
N0 800 OHNOH.

&8 :

(A) OO (R) Boddr dz=o HBosm
(R), (A)D DSBYOS.
(A) SHBAW (R) Bodr, Az, 3R (R),

1)

(2)

(®

(A) 20, ®oNS (R) $).
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69. The-strateg:e objective of Asset Moneuzaum

(2)

‘An initiative to unlock the value of

({38)

investments in private sector assets by
utilizing public sector capital.
Involving an  indefinite
license/lease of an asset, owned by the

government or a public authority, to a|

private sector entity.

(3)

Facilitating an opportunity for public
asset owners to use new financial
structures by utilizing capital from
private sector investors.

4)

70.

L

1L

In connection with SEBI, which of the
following statement/statements is/are valid ?

Offering an alternative mechanism to|

the PPP model.

SEBI
Infrastructure

exempted  regulations

financing through the capital markets.
SEBI introduced the

debt securities.

IIl. SEBI increased the minimum ticket size
of corporate bond investment in order to
encourage investor responsibility.

IV. SEBI along with the RBI introduced the
Retail Direct Scheme.

Select the correct answer using the codes

given below :

(1) Onlyll

@ 1,1l and IV

(3) HIandIV

(4) OnlyHI

period |

for |
Investment  Trusts|{
(InvITs) and Muncipal Bonds in order to|

facilitate more efficient infrastructure

framework in|
which listed large corporates will|
mandatorily meet 25% of their financing |
requirements through the issuance of|

1”0

S SJBELS (SIS TEy

OISR Qe 00D

(1)

(2)

(4)

BAVE NS soff STV
GOTrAotGo ot (RIS Sois
oS DEPHHO NS
2008 )5 B8 2.8 $8e.

28 |3 Soff Doy (Do S
508 ewrrdd orasrdes'd,
Tody DBSBE 3558, BRSYOTS

235 Soff eR2ATHO  Hod
Xnm)c‘,'m'&)l Gad3rioddo oo go°
WEheSs e dbasrden £
808 JTUTOD  GHTTAODHS
ST DOZSB0 TONHO.
PPP SrsSHo (&g 0D
OROF 0T OO0,

28080 @o& o808 BC «H
ROACHSEBDE H020800), (8§08 (D5 /
DERSOS" DO TEVED BHB D ?

I

Iv.

saed 08 orsjor Do
mmgéoé@é &"’é)g a)dbsﬁ‘cﬁro
w X)Cﬂ)ﬁ’di}’t) .eepa)é LR (@eﬁ
BRSNS AT VDoS 1LY (InvITs)
DO SVVVNS robe Fdo SEBI
PATATOTAINTIINV AN IS oWl Tt e T X
SEBI |HS0363ed (9392806, &S
e IohadsS DY 580G e 22060
érs0ede 28 g 0 DIWYON
ST OS’ 25% 330 SO,
ARV 27°C 55D

(S, 27008 58 )8 arod
ePA Ty EDD 3865 HOSTER)
SEBI wolod.

e8HnE Jr¢n SEBI 8BS BB 23
D D3 0L06.

&ﬁ)é '5135_52.)(5‘6 ?&5&)6&) GOTBPAOD OB
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71. Consider the following Assertion (A) and|71. 808 yd&de (A) SHdAW s6mO (R)
Reason (R) and choose the correct code : HOKBoSo 00 HBS TN
Assertion (A): QotiEod :
‘India Stack’ has enabled an online, paperless B DETE (A) :
and cashless digital access to various public ‘QOBAT FF DS |1Dpeds HdA
and private services. This has reduced the cost | DBE DIOH 8IBS, NG &2res

of condueting e-KYC.

Reason (R) : : _

India Stack consists of two interconnected
layers, and of these, the ‘Payment Layer’ has
reduced the cost of conducting e-KYC.

Both (A) and (R) are true and (R)
explains (A).
B@%&(A)and(R}mtm&,M(R)doesv

(A) s false, but (R) is true.

Pick the correct sequence out of the following

DB K Sored ABOLS S8
1>S0DoD0d. Ho& &-IJX DB
%) Sfod.
§°0e90 (R) :
'&O&o‘ir 8 Dok 2oLBETER Sond
SOLN0S  HBK . NS’
‘BOoH BaHE’ e-KYC e i )d
ShHoDoB.
&5 :
1) | (A) SO (R) Dodr Jso SHOAW
| (R), (AR D00,
| (&) $Bck ®) Bodr = FD ®),
- (&) DBBoBB.
(A) 20, NS (R) Sa3).

72.
e R the oent ioe Mé&‘%oé‘ PRS0 &S 180y
S Wi petonaiiond (0151 ool @) Sowofod 8ob
—e e ~ @moeﬁ‘ RBS ESr), DTS :
(1) Food Inflation > Headline Inflation > 1) BXS‘G_LCSSSQ;)SQO > O [BS5O80
Core Inflation ) i > So|& iéﬁ‘& JEAO
(2) Headline Inflation > Food Inflation > 2 DTS 1B 50)80 > &8 |B3STe 00
- Core Inflation ; > 808 (B5STe00
(8) (Food Inflation = Headline Inﬁauon) % 3)  (B5°6 (BSH0 = (DTS
Core Inflation Pt (155%2)200) < oS (3750800
@ Core Tafiaiion. 5 Pl Inﬂmon = @) Bo(& (B%5e)00 > 8IS |50
Headline Inflation > OGS 1SS0
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78. Which of the following statement/statements |

74.

is/are valid in connection with inflation ?

o Cosbpmhinﬂationcycleofmﬂkia
becoming more and more pronounced in
India.

II. The Bharat Atta initiative of the
Government has played a considerable
role in containing wheat inflation in India.

I11. Retail Inflation has considerably increased

in the beginning of 2024 owing to

increasing commodity prices.
IV. The Bharat Dal initiative has also been

extended to include moong dal. :
Select the correct answer using the codes

iven below : :
l (1) HandIV _ (2) Iand I
(3) 1I, III an (4) Onlyll

Which of the following statement!stétegy;ents
ig/are valid in connection with Enha

Reforms ?

I.  EASE Reforms are governed by a board
of directors, who are heads of premier
Financial Institutions in India.

1. EASE Next programme had just one (01)
priority — the Common Reforms Agenda.

III. Delivering excellence in customer|
service with digital enablement is one off

the four themes conceptualized as part
of EASE 6.0.

IV. EASE Reforms are intended for both
Public Sector Banks (PSBs) as well as
NBFCs.

Select the correct answer using the codes

given below :

Fl}' Only 111

{(2) L, HandIII

8) HandIV

4) landIV

{40)
73, |OS5e8 Jo060D 8o (DSOS /

HELSOS’ DO Teperen eHon ?

L 2888508 Jen B S5ob DS
S e)@0 (89 D BSF0)R) O
2006 DS DO,

1. erésdios Mo 18850)R)
dovo@otsod’  (Hebeso By
PSS @b SBS HDADDS (e
DnoN0’.

HI. 0Hhed) SH0 Sde sdom
2024 ([DoB0S ORS (B0
BeaoRor ON0A.

IV. DS DY) TE,TA8 788 &
SESD @ DABOTH.

BHS BSFBS FhOL @ITrAoD) DB

BErERR) D0tnEo :

(1) 11080 IV (2) 10605 II

Access and Service Exeellenee %SE}

3) IIISOCWIV ) I Sored D

DSFSHE O8I0 HOAM 5850 5B

806, (EASE)S H0208070) (808 (H3€eS /

BEOIOS DAY Tevaren eyEran ?

I. EASE Hodybeen o8s30’
DS €08 HoRe RHENT W)
BBES DT dEsaroederan.

II. EASE &5058 (rad SSeo 28

01) (FGrdsed GOD ~ TN ﬂa’r&m
QBOTF. , -

M. A86S S80S 5Pt W -
Fhs%  e©oBors%o
6.06° 2ror Ererodo
SDod'288. :

IV. EASE dodydmen (Hibsds 6of
argodoen (PSBe) eerfl ara-25080h
YOS Sondew  (NBFC)e»
BoAoe3s TR0 on.

arb:a absa&dé S‘&o&n amnoc) 8‘3@6
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75. Which of the following featumffeamm w’am

76.

correct regarding Stand-Up I
I.  This scheme wm%_.-
enterprises .along with mnﬁeld

enterprises.

iI. Non-Individual enterprises are also
eligible to avail the benefit of this

scheme provided certain conditions are!

complied with.

IIl. For drawal of Working Capital up to

% 10 lakh, the same may be sanctioned |

by way of Cash Credit Limit.

be secured by a guarantee of Credit
Guarantee Fund Scheme for Stand-Up

India Loans (CGFSIL) as decided by the |

banks.

Select the correct answer using the codes

iven below :
‘(1} M and IV (2) Iand I
3) I ITan (4) OnlyIV

Consider the following statements regarding

the RBI's Digital Payments Index (RBI-DPT) :

I.  The Reserve Bank of India &BI) has
been publishing the |
as the base year to capture the extent of
dig,itisaﬁm*- of m‘t& w’ws the

1I. The mI-BPi consists of6 broad |

parameters that have in turn

sub-parameters.
L ;
inception. :
‘Consumer Centricity’ is one of the
parameters in the RBI-DPL.
Which of the above stataementfstat.emantﬁ
is/are valid ?

(1) IandIV
2) LHOandIV

IV,

(3 IlandIV

{4) OnlyIII

Besides Primary Security, the loan may |

There has been a constant increase in|

{41)

[a]

75. Yoh-0d BOGAT JHSOHN HOBOHOW)

76.

806 H3EASES DB/ HBID 7
L & d6% ASSHS aoea&;sacoé‘ Dren
(SO JobB|RE & 5356 Bod.

I §9) Aden B  Si8r8s86

Hoyen e & D0 |DIrBIW)

FoBTooid edhen.

10 ofo S6% S600 spadd (@@

DoHERE, S BHE HONS oo

L S0sm TOHID).

IV. o8 FHSSE e, 2rsosoen

- BoodSEDr, Fos-eD RosoET
S'Se &850 (84S msBoed Hob Ly
(CGFSIL) o3»%; mBod ogor
 SER) WO§ S0 TADSW).

OHS BSJDAS TBoD GHrAoD IBS

e - &

(1) H8a» IV (2) 18w III

3) LODOANIT (4 IVSMSD

RBI-82308 3Oode Hrd$ (RBI-DPDE

H02080D (808 (HELS HBB00A :

I 0s8; 270§ D woBoS® (RBD
Bivsor TOoHe  A2DIAS
.:aca QoA TODFRE 2021
BR 20H6™ RBI-DPI Q (Hc000d.

I RBLDPI 6 a3rodden @od

D098 T WSO $O- GoEnos.

" RBIDPI |9808Ds5)88 Sod
DBOSE0 DEHErS &0d.
RBI-DPI SR oS
DABrHSHE  Boddothsy @IS
2.5¢8.

D 5O / D3OS JODD  Teeren

HTOW 7

(1) I S8a IV

2 1,158 IV

3 1l v '
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(42)

of the following statement/statements

quahﬁesfquawy as valid in connection with

ing m@chamammlndia‘?

 Increasing the Cash Reserve Ratio

(CRR) will result in increasing credit

creation.

Cash Reserve Ratio (CRR) applies only
to the new deposit base while the
Incremental Cash Reserve Ratio (ICRR)

specifically targets the new borrower

lending base.

‘Tm Premium’ is an important
component in the ecalculation of the
Marginal Cost of Funds based Lending
Rate (MCLR).

. Marginal Standing Facility (MSF) is|

~used as a long-term policy rate and is

generally lower than the Bank Rate.

Select the correct answer using the codes

given

(D

below :

Iand IV

(2)

‘Only II

@

4)

Only IV

I IIT and IV

7. 68T’ arsolol

[a]
ahoErorras

Ho0B0D (80O |1HELS / (HELSHS DD
TreD ©IHTON?

L

B

S deoge NG (gD o8y
BAGNCRRID NOBB0 S (3AES
dga VEDSOE.

S Ao AAS (s Ozbg
ORTNCRR) §¢ Arad Do
Sresad SB0H,
DOHSBDS) S dogo DD
@ofotdd st O=bs BAEIM)
(ICRR) [D8ssorr §& Seaiares

S PITR) w§somr TB0E00.

SO

Sr@SS £ 6D Hob) P Bokoh
8¢5 (MCLR) 568" awm

2.8 S0REIS 2,3'(10

SrQSS  Fodoli DIOS  (MSF)
b0sOs  mob  Bewr
SBHTTAOBRHEOS _'; | S8k
rdeaon 2rg0§ Bew m}m&ﬂ'
GOENOR.

BHS BS50AS FHOD GITrA0D HBS
QTR Dot :

(1)

I8k IV

(2)

HI Sv{edad

(3)

4)

IV Svjedsdh
L I ok IV
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78.

79.

In the context of Indms fight against W,
consider the following statements:

= Unlike the Global Hulhdunénmmal
Poverty Index (MPI), the National

Multidimensional Poverty Index (MPI)|

developed by NITI Aayog does not make
use of ‘Alkire-Foster’ (AF) methodology.

II. The urban population witnessed a larger
‘decline in poverty as compared to the
rural population.

Pradhan Mantri Garib Kalyan Package

(PMGKP) includes the coverage of food
grain entitlements.

The Multidimensional Poverty Index
(MPI) is computed by adding the

1.

incidence of multidimensional poverty i

and the intensity of poverty.

Which Of the 8b0ve Stﬂtemenf} ateme r.'
isfare valid ?

(1 _JandIV

(2) Onlylll

“{4)

& 1 and-ﬁi".
None are valid
In connection with the Urban Infrastructure

Development Fund (UIDF), which of the
followmg statement/statements is/are valid ?

II. The fund is to be exclusively availed by |

pnvai:a agencies to create urban

III. Ehgi%e activities for UIDF shall be
connected to the Missions and
Programmes of the Ministry of Housing

& Urban Affairs (MocHUA).

The fund will be collectively managed by
a cluster of Municipal Cooperative
Banks.

Select the correct answer using the codes

given below : :
(1) OnlyIIl 2) LLIllandIV
38 ImMandIlV @ (4) HandHI

(43)

re in Tier 2 and Tier 3 cities. |

78. Wm&‘ég é;mon' rESTE0 TS
Forey Sossod, & 806 (BSOS
$8E803508
L (oD% 2TV DEOE D

(MPI) 38 o, 8 (NITI) eddrh

@S0 THS 28D 250NBAH

DSOE Ird (MPD ‘©0B)5-05' (AF)

DR BHTROID.

wﬁaw 2SS POV HOL s S

DEOEODGM™ g_sﬁorho&

-mi 1T Dol 85 EesS giAS

 (PMGKP) 856 oo Ty $50#

GOLNOA.

HIODBOH DBBE D (MPD

DIVNBOH DSBE0 HO® D80

3% s Sdosso oo

e,

D (DEOS / DESHS” DOND  Tewerew

@@m:m?

15805 IV

Iv.

(1)

9&‘)@‘3}:6 Dorie ©DIHP

& ®

: a@scm DoOHON), 1Bod (H8ES /
L:fgea.soes‘ DO/ Tewaren eHeron ?

G-Sec 378385 0B S0F0ES 0283

. P0G OPS0° A FTROWRRHR0D.

I BB 2 H0ah B 3 St H%e

L oSTHS Ioiod Srdrododads

& O (HBgorr (23S B oo
FoSROD.

IIl. UIDF §%0 @ga §é)m6 s8g¥eraren
Har0% 60 DO IP S§SIST©
oSS s 3w (MoHUA) 3wE) A
N8O 5G5S o8
SDHJOTVOIDE FOLFAD.

& O dAT NS FedHteS
2508500 08 Te) o jo°
Bslelreintala it Ve al

&ﬁ)&ﬁ 'as’.);m&é §‘§oa&3 &OTrROD HBS

Iv.
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S

80. thh regard to the Startup Ecosystem in
~ India,  which of the following
statement/statements is/are valid ?

j 5 National Institute of Agricultural
Extension Management
Centre will not be presiding over the
selection process of the applications that
are received under Startup

Agri-Business Incubation Programme.

Mentorship; Advisory,  Assistance,
Resilience and Growth (MAARG) Portal
is an exclusive one-stop platform
intended for guiding startups in the
emerging Aritificial Intelligence (AD
sector only.

III. Startup India Seed Fund Scheme
- (SISFS) aims to provide financial

 assistance to startups for conducting|

‘proof of concept’ trials.

Fund of Funds Scheme (FFS) for
Startups is meant to contribute to
various Alternative Investment Funds
(AIFs) registered with the SEBL

Select the correct answer using the codes
given below :

IandII
(2) ILIIland IV

(8) IlandIV

@ Onlyl

(MANAGE) |

(44)

m‘

(]

TESTI0S” TED IFVHSHH H02080D),
1808 1HEOS / 1HELIOS’ DB Teerdn
©HTON ?

L P00 of-DRTR R0803BAS (ST

804 ‘;o_ggboézaé& SETPRS ODY
Dfchs MANAGE Fad8S a8
NS @D oEn)d MBS
DI Do) Solso Tt
SEFOTD. -
IS8, DO, HdFF%o,
VATOES OO Sy (MAARG)
®JO Q0008 . eddDhaHS
U 200OBS) SIS D)) (A
2§56 oo SrgdBdo
DAHTVE 2.8 (DBEDS S-arD S
>55. '
T 20AST &8 Hos Ly (SISFS)
FEHO% WD ¢ SR/IY LAHS)
DEgroSE8 [ TTa1:3 SH*oHo
©oQOTSG0 ©f sor i‘}ﬁpéoo&'.
PP o Hos 8D Hod) VD
(FFS) 36 SEBIS’ 62896 Sahads
AV (DB oD DEPAE AHoeOZ
(AlFe)  JDIsd0  ©080S@RS
AF203808.
B8 @S50S FhdD adTBrAod SBS
JIFEFRR) JONEH :
1) I8
(2) 1L II oah IV
(6 ooV )
4 I3
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81. Consider the following Assertion (A) and|g]. 808 (59856 (A) SO VWO (R) ©H
Reason (R) and choose the correct code :

oso& O HBS  FED

Assertion (4) : Dokl :

B D558 (A) -

The National Product measures all goods
; ; : 2005 G8)8 o360 «df siodre
and services that arise out of economic

activity, whereas National Income is the R GS)SHED; O SWPew

DO DIOD  TenNod, oS

sum of all incomes as a result of the

economic  activity. These two . are| a'édi) Soraho ®ID 6fs FiEorTre
Synonymous. . ;)é)éow ST ) BroPre InBo. &
i Bodr JTFOHITITEN.
SO0 ®)

Theﬁodhbﬁhnofgood&andservieesisthe
outcome of the use of capital and labour,
along with the raw materials, and this|

SHen HOAM DO &SR eFo
SDA ITTOS Jew, ArOSS0 SO
autdmatioslly genibater S, HD AETN0 DOSor B od
SO A HIOVOTOEOM SLFOT)

B 0 B are tme (Iﬂ 8 :
= Ep (A) 2005 (R) Bodr D20 SHBAK

[ 0

(2) Both (A) and (R) are true, but (R) does (R), (A) Q DS0NOR.
e : @ (A) S0 (R) Bodr dzd, s R),
' (AD DIBOS Tb.

(3) (A)is true, but (R) is false.
8) (A D0, ®ONS (R) ).
(4) (A)is false, but (R) is true.

4 (A &), ®oNS (R) V0.
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82. Which of the following statement/statements

ia?are valid regarding the prevailing scenarios
and issues in connection with the World Trade
isation (WTO) ?

I.  The ‘Peace Clause’ under the Bali
 Agreement reiterates that developing
nations must not exceed the 10% ceiling

limit for Public Stockholding schemes

initiatives.

II. The ‘Green Box’ prohibits the use of
direct payments to producers which are
not linked to production decisions.

III. The ‘Reduction Commitments’ are
expressed in terms of a “Total Aggregate
Measurement of  Support” ’. which
includes all product-specific support and
mﬁ-pmduct»spaciﬁc support in one
single figure.

IV. Any support that would_ normally be
placed in the ‘Amber Box, is not to be
placed in the ‘Blue Box' even if the
support mandates farmers to limit

production.

Select the correct answer using the codes
given below :

(1) HIandIV

(20 LHandIV

(3) OnlyIll ]

(4) IendIl

{46)

Ny

(B0 redess S0P (WTOH fe (Do
G)  SyTien HBo DO
Ho0HoD 1808 1HELS / (DELSOS
DA/ TN eeHB°ON ?

L 270 23)08508Q 708 0L,
@30 Bohehd) Taren HDS S
ol HPse sosEsre oo 10%
DO0R  JBAD  OVETGHSR
ST BR0S. '

I 88 o8y 88 dfosrod

Sonoso B Jdomsdeodh o
FOoHers SOTPAOBER)
DOV,

L ‘$Hod 5perty’ o0 “DPd Bk
o Fos” Hdor S8EBosnA06,
20HS ©J) 68)3-008 DG
SO0 e )BTHBS-VGY P 2.8
D0’ H0EN0d, .

IV. Jgré@omr ‘serodo Y (wod
5SS sod BT P
2F 2r8)S’ GODBE, 2EIE DG
BeonH ¢8I H0Ds0 TaArod
sB20035)¢38.

B% BI50ES FHOD GHTN0D HBS

BT doHTod :

(1) I SH6ak IV

(2) L1601V

3 I ;:-liéa‘n‘:

(4) TIHdck» I
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(47)

83. Consider the aawaa Assertion (&;mm 808 5eDEGe (A) SO0 FELO (R) O

Reason (R) mmmmm

Assertion (A) ¢

Coal washing resuits in
generation

washed coal in India is still limited.
Reason (R) :

The limited establishment of coal washeries|

may be attributed to the perception that coal
washing by increasing the cost of electricity

generation, would adversely impact the|

plants in terms of ‘merit order’ scheduling.

2

ﬁ .
(1) Both (A) and (R) are true and (R}

explains (A).

(2) Both (A) and (R) are true, but (R) does
not explain (A).

(8) (A is true, but (R) is false.
(4) (A)is false, but (R) is true.

Which of the following statement/statements
is/fare valid in connection with Sustainable

Development Goals (SDGs) ?

1.  Achieving Goal 10 will require an entire
reform of the financial system that

promotes eqmtahle pay and decent work
fwmmﬁa ey

gomnmem and mdusﬁ;a] poh(:y to
support both sustainable consumption
and production.

IV. The eoncept cf global citizenship

indicates flexible citlmahxp | nghts‘
across countries for the purpose of
facilitating better labour markets.

Select the correct answer using the codes

given below :

(1) Al 2 LandIV

3 Onlyll )@ HandIV

efficiency and redneed
investment costs. However, the use of]

HOnBotsiod  SHBak»  HBS  FAD
20HEod :

SthHed SaHGo SO S8 o
RHHDOS HOAL DEPAS B W

Stharan.  oondn)s, risBios
: SAAS STH 8o 20H)E38 Heeso.
. SWwo R):

S Tnde SBS FHSH DS
#8)8 S0rD) DOSBO 5o SHD
- BANG0 S0 DBE e86 ndridoh
Sbor FoSon (PO  (HerNo
EDB0NR 270 SPEEIOM T )dtdd).

(A)R) 3560:5 gd)
3 (A dz0, ®ONS (R) &),
@) (A) $5), ®onS (R) d=0.
20DE 9DSHP 53 (SDGew)8 SooHod
1808 (D8O / [DEOSOS” DHDD Teertn
%&W‘?‘
L 105 &&gh; :a'@oéa'ag AiwSHOB

S BebSo HBAM HOD HAN
Lﬁﬁégm @08 S350 GIng, o
O 582 @5080.

1L rdsB¥osS’ - SDGo HEsBEe

OLPSE0 ToLaRs VS (NITI Aayog)
oTFE TASS =208EO5 |HHSE)
(INTF) & @988 Bos.

I DS 5§D DO SHB

. G8)8 Bolods @S as;aRS
ey HBA FOFTNE TR
L;az;':)éo THAD o sorr DEPSOS.

IIV. 4 5 S ©DIHO ofsn (SDG 9

 FOHODS TS DB2SAD” ;S
oIS DHBS Bb Sridod
pofsso TH afies Srod
ONTS OIS FROD Irdod
QP DEO.
BHX 235285 FBOD a;ﬁ&rnoa B
:oérq;'a'a; QoHfod :
(2) I II08c» 1V
IIT Syveda (4) II s8akn IV
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85. Which of the fol.}ewing statements are valid
~ regarding Human Development ? :

L

IL.

II1.

Two countries with the same level of
Gross National Income (GNI) per capita,
but  ending with different human
development outcomes is indicative of the
importance of growth over development.
A country’s the
Inequality-Adjusted Human Development
Index (IHDI) is not the same as its
Human Development Index (HDI) even
when there is no inequality among
people.
In Gender Development Index (GDD),
below 1 indicate higher
development for women than men.
Planetary Pressures-adjusted Human
Developnwnt Index (PHDI) focuses on
mml inemality  just the
same way, ‘as the Inequality-adjusted
Human Development Index

score on

values

Awordmg to the Human Developmant

Report 2@21 — 22, a new uncertainty|

complex is emerging, which comprises of
three new concerns — planetary changes,
sweeping social transformations and

polarized societies.

Select the correct answer using the codes.
given below : :

LQ

IVand V

@)

3)

@

LIand V
II and III
LHandIV

(IHDID) |

{48)

VNN

(A]

D308  Sowodod (808

DERIOS DD Tewaren eHsron ?

III.

SN0 Yo 80H 8orado, (GNI)
28 Pans &d) Bo Tren SV
DD SrSS 9D  POmes
SHACHB0 @DHYHE S0B) S9@ V8
ES SESTES INVESV ST VTR

dirdsn Do BE MO
HPeren ToHAAS SrdS DS
0¥ (HDD |H20d’  @dsrdes
B3B38 D Sr8S ©DIYE JrdE
(HDI) 558 0.

Ooif ©DSHQ Hrdf (BAD)S, 1508
S$505 denden e  Hod
STt O ©DIHOD JrdFow.
IO (DAB) - PR, TS
BI0D0E 20TS) (SED)
ST 5 BIITIH(ROLBBIBAS

WDSTSHD Son BN, b

DBOT  BISTIS-HHIED TS
IS @DSHE rDE  (HTSAD)
@60 SV G dhre
DBy 1SS (’a@@?m&éeﬁ
BISTIS)P SeR DWSS.

SrSS  oDSHE P 2021 - 22

D560, 28 T oS Jobns
A5)E0s, BOHS' K T
sof8dsen Gajon - [iId'e
Srdd)yen, DRSNS el
HBBIBSe DB |05 DT eD.

AHS BHSAAS FhODH GITWrAoD P

DT, otTos :
—

(1)

(20 LI DO V

3
4

IV 00 V

II SO I
I, IT So8asw IV
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86. Which of the following statements are valid |

v m ‘ng the . -];n' m" entions of :.:ﬂle

Centt% (AB HWG&} 10 avax'i specaahst =

= 'semces through ﬂ:stnct hub.

II. The Family Doctor Programme has%@m :

planned to be implemented as a

standalone project without the need to

be integrated with Primary Health

&
1808

A%E &5 oo 23509 DIOD
SoBodd ®) schms rds
=& SO [OYD Do
BODBALS  FEB50

C Stnon  FO  DESI)  @AVS

a8 forod ErS)

mmwg}o{y@ 1 eS80 BHow

it from « 251»31; & ChRM patkiais

provide
allowance
conditions complied with.

Select the correct answer using the codes|

given beldw : e

@ TendlV
@ LMV
(3) HIandIV

_

(4¢) L MMandIV

ara’ Scheme mmtsn&dw :
. Watme smtaenance |
with  certain eligible|

K08 D038 T8

a8

28 Foh 58 @>ASr edHen
S8 (Her S ThaB0d.

[Tl e\
;’36:1}3& 2 25 ©50 HOD T 5 OLON
) ogo° =6 BIDes 8%
He%0 @é&@@oém&o&

é'

HKso g’c‘\}g wéé
ABSHOS 3088 BSS
356‘35:31 ®OHOBEE e@i‘a’oéza&o&

raﬁ 2B Ehed GIB/HAOD B

:_bérc:'a:':) ) doctsod :

(D

31

I 500 IV
I, TI 8050 IV
I 605

@

1, I o005

.
i
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87. In  connection with transport  and

Str e in Andhra Pradesh, which of
the:":.followipg statement/statements is/are
valid ? '

I. Andhra Pradesh’s first riverine project has
been proposed between Muktyala and
Madipaé_tg;,on Krishna river.

II. The Bhogapuram Greenfield International
Airport had been started with a corpus
fund that is sourced from National
Investment and Infrastructure Fund
(NIIF).

II. Infrastructure investments in Andhra
Pradesh are strictly implemented only

withmfemm_tostrategicimaehmma_-'

like ports and industrial corridors, but not
with reference to community assets.

V. Raxl Over Bridges (ROBs) are being
devmad in Andhra Pradesh under the
Setu Bandhan Scheme.

Selecttheeon‘ectanswerusjngtheeodes'

given below :
(1) I,HandIII

(2) OnlyIVv

3) IandIV

4 OnlyH

(50)

L 50D nFo S0k SHOJch

§ # 3
Ko m

87. SOPOBFS Sao HBa  FOE

SBDAFOL HowdS0D,

0§ BONHTFS" I3 SAD
2% {_:}asréoéeaéc;,\ '

. FASS aBIHDoES ok ASDEB

DOR (NIIF) Hod NECODS SEAE
;ﬁ@ég SrHso R063) 256 Lﬁ;ﬁ‘bg
OB @-csoz)ozsacs@&.

. eodOTTS  FO5  HSodosre
P LBBHen B
TOTNE TO@Y S0 JgrgrresE
DR2HOH  IJ0WOBOD ST
wden TohadEron, O SSr
BROH HOVOHOD S,

IV. e 0SS HE%0 8045 | )
85 &35 OPen (ROBew) @Dyl
Jobadmdmryon.

OhS 255288 Fhow GIBrA0D $BS
RaATTR) othod :

(1) L8011

2 IVIreD

(3) I08aw IV

YR | NV TS Yo
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88. Which of the following statement/statements|gg @O SHBF JOFDE DErSO 2023 - 278

: 5020800 1808 HELS / |HELSeS
Pradesh Industrial Policy 2023 -27? ' '

O/DD Sad)?
I.  To achieve a minimum contribution of| gk o8 GDPS' JBEde orgor 80O

25% by industry in the State GDP ' : SIS0 3% PEOSEOE
I To provide endtoend facilitation | T 2 TT€ 0600006 PROBAS
2 weeks . | ®ohodads
- 0 DESH  H0208008 - HE (10
IIl. To envisage ten (10) priorities of| =

L DORISos $Erosto
accomplishment 3@'5‘ $

IV. ePpade €50 OF @08 D AT You
| Sr650D 552 DRFOE
s? SETY ew&;\*} e‘éc",gé 2 o

IV. To focus on becoming a Plug and Play
- State’ for investments

V. Ensuring land allotment by APIC ' 580" BOGHHTF FOFVE TOK
within a period of 2 weeks upon receipt SEFAFS B0D (SoBDT5
of application : . 1 208R00S AJEN0 sTBAS

St sonir i b e gvn OB WO oo oD

s By L | Seronodys dgBosso

(1) II,iIIamiv B%S asidas TBod  &I8rAoD

@) LI m B

® Onyv ol (@ Lnmssewv)
' @ VIrs$d
@ 150050 IV

JIPR) JotHEod :

; (1) nm 3 E oY

(4) HlandIV




aﬁhnfollowmgstaiaements arevahdm
n mﬂa Andbra Pradesh Green

1. The objective is to target Green Energy
‘production up to the capacity of 1 MPTA
(Million Tonnes Per Annum) or Green
Ammonia production up to the capacity of
'\ 2-0 MTPA in the next five years.

II. New and Renewable Energy Development
* Corporation of A.P. Ltd (NREDCAP) shall
act as a Nodal Agency under this pokcy

I All the Ports in the State have
infrastructure for storing liquid nitrogen
which can then be utilized for stonng
Green Hydrogen for exporting to other
countries.

IV. The Policy prohlblts the production of
reen Ammonia by

usngenmbleEnergyandr‘orBaomaas'

from “Third-Party/Power exchange’,

Selectﬂxeeorrectanswerusingth‘emdes
given below :

(1) HandIlI

(2) IandIV

@) LHOandII

(4) MHlandIV

(62)

gen and Gmn Ammonia Policy (2023) ?

89. ®olGHD5 AS JE=S oo (S

©JMAAT oD (2028)8 So20H0D 180

DSOS’ DD Teweren By ?

L o5 28¢S" 1 MPTA (D058)0°08
DODS ) e0) SESO S6%0 (BS
ASQ @wes)B Ber 20 MTPA S0
S5% 1S o3 &) o sorr
SES%0 ©450.

I &5 oo8 Jdrgswd  d88
BIOD0E 802 D
@olSOTT O®E (NREDCAP) (§¢
OO PSBEEISE OGS SI®
J09 AP. Lu)® od 808 oS
DB T SE8FBNOS.

L o308 @) 48898 (8S .%;_é’@a&.
Jdos TAHENE F'OF HHTrIren

 GRYoN M8 2SS FroRd ma

Sohadd B8 WERS Doy
o@D GHETAOSSE).

V. $0->056 8o Sod
H3GEsE 38 SHdchESe e
ATFSRRD SHTAOSE0 Cr5o” (S
PIESSAS oIV @S)ED
o NOENS.

BHS BIES FhoD SHBrAoD HJS
DSPEFER), JotEod :

1 nSsowim - |

@ 15805 IV
(3) I II06aw I
(4) T 0805 IV



GS/1G/100

111,

Andhra Pradesh won the Best State|
Award of ICAR — National Research |

Center for Banana (NRCB) for export

promotion.

Andhra Pradest GEDP growil sate hi

been registering a decline in recent|

times owing to repeated lower returns in
certain sub-sectors of the S tor.

For the FY 2024 - 25, the Revenue
Deficit ,;a budgated hxgher than the

of A,ndhm Pradesh while amﬁmhng 5

as ‘Goahnmdy Opemhngkafareme

Stshm(OORS)’te&hnw.

Select the correct answer usﬁxgtﬁ ‘codes
given below : e

(1)

Tand IV

(2)

4)

II and III

11, 11 and IV

Only I

I

[a]

100, wossBs g sraseds 288
. QOROHOV
DEIND TBEVLFED @Y AD ?

DN |FE)rTe §H0 ICAR -

8o D80S / |DEdSeS

©8¢3 2 8aH H85%S $olso (NRCB),
g add o  sdd
SOIHTT Benchtod.

%> dofio & SNHad Sors

: xﬁ:)ﬁ S50 Tade  seor

SOBIHBT GSDP 39 Ben aesd
sood’ §ossH Sard BPod.

- FY 2024-25 §30, 80|S(5B% GSDP

a‘éa SBorr BRGrg S 2585 (988

eS‘e.n %o’l‘:: Qéo&érr @08,
' ?'-=MW:&) 8385 TS W

30@@85 {932,5:&530 = DA Te\italotn
m@agém DBoSsor  HAITD
8988 @:n.sm (CORS) ;s-omén»
S OT .

BS 2N 52BS S’ﬁe)éo GOHTBrRoD) «38:6
.‘(mm'm&}; 20tHT0A :

(65)

I»8ak» IV

(2)
(3)

4)

I m I
11, TIT 508050 IV
I S



91.

voicanicactxvxty and their characteristic

Part D

Geography
are the intrusive landforms of

features :

I Batholiths : Huge mass of igneous rocks,
usually granite at the deeper layers of

the crust.

1. Phacoliths : Large igneous mounds with
a dome-shaped upper surface.

II. - Dykes : Wall-like structures developed
by solidifying almost perpendicular to
the ground.

IV. Sills : The near horizontal bodies of

 intrusive igneous rocks.

Which of the above are correctly matched ?

(1) LIlandIl

2) L IlandIV

(3) LIHIandIV

Consider the following statements :

I. Silicon and oxygen are common elements
in all types of feldspar and sodium,

calcium, aluminium etc. are

Wm,
“found in specific feldspar varisty.

II. Almost one-fourth of the Earth’s crust is

composed of feldspar and quartz.
Whmhaat'theabowstatements ig/are correct ? |

None of them

4)

Identify the incorrect statement :

(1) Geomorphic processes bring about
changes in the configuration of the
surface of the Earth.

endogenic geomorphic processes.

The endogenic and exogenic forces cause
physical stresses and chemical actions
on earth materials.

@

3)

(4) Orogeny is the continental building'

process.

(54)

91.

>8D
D |
806D efISiEe (Sdrdod Ses
ABIBS ®OoSPH zir.‘{),sdra'e.» S8
3 DAY ©F e
L FOSen : 2378
S, Seaor z,;%
e g‘ 5B eof)) Feen
I. FOSE en : 2rd @ﬁ&f} Herenm
MG TV D a;ﬁbée)o B0

85608’ G0en0d. |
BS &0 : 30 AFDODSIH 258
ororsy ©o0mr iitd erodl doreren
Q8 ycErow.
DS e : ®osP @) Foen TN
&a&roééorr 6B doeTren.
B o) 88 D Hor
2SDBBDHD ?
(1) I, 0005 I

o ooy IV

(3) I, I 8% IV |

SBS 6o
Lcsas;o»s’ 1)

1L

Iv.

{5@& (DEOSOD aonm&o&
o) S50 O b o dsS
OO @8)ZD i Sresen
ook AdAHo, Sréeracy 9@0&)0
TSN TPA TR To VYo B AT T I 0 4 0 4
FBSen ST EDFOW.

L o) 98 Sosh 2rdeeo, D)0

 0dk s-sg,é' 308 Gov0B.

(4)
OS5 15585 HBO0S : :
(1) 25050 g@cﬁ)en 2;53'&13 GOS0

038053608 St e SRS on.
Brdere DETEDD DO DY s
PDED T DoSPIS  FrOETD
(8Hoen.

238D 8L @oSPAS  FBexn
aSr;’am‘g‘o g e.i"aé a.@ﬂ) SHEO®

2

(3)

:Ja*gsa @l_g(ﬁ]




Whmh of ihe above are act:xve factors ?

(0 I, HandIN
(2) 1and ITI onl
(3) Iand IV only

95. Match the following : (3G9
Liwl = . . e So8
 (Clouds) B3 58rHEan
ki 55 Deny 5083
B. Cirrostratus PPN
! HDH9s ODSE)
- doo
sEyeven

. ms& a:aairﬁam 3BS

Doidmms are the strmg Wmds that
have rapid surface n '_gmea&. : m@& r?t:oe})




100,

Considerthe Bllowing statamants -

|08,

1 Dry wgn?:er season
 No dry season
Dry hot smzziner
Dry and very severe winter

Which of the above arenotti:echamcberistic
faature% of Mediterranean Chmat,e ?

085
(3)

I, 1 and I
i, 1 ané v

4 I, H 4
i 99.
Guyot is :
(1) A mountain with pointed summit rising
from the seafloor that does not reach the
surfm'af the ocean.

I Ingenera},theterngenous eposits a

. deposxt,eti on the continental shehres
II. From the shore onwards, there is a
gradual increase in the coarseness of the
terrigenous deposits.
0L The muds, the finest materials, are the

deposits. _-

The colouring of the mnﬁs depe;mis u;:on

tbw'chemwai content.

h of the above mﬁemenm correct ?
1I and III (2) I, Il and IV

(4) Liland IV

T

{2) ﬁ deep " Vailey aometam& %und, cuttmg

' 100. (808 BEBSOD SO

IV, B e, ok e &

3

3)6),)@5 @ow&;@ey&)éo 3@'{3&)
oD Frad SHdan Dawdo
&N,

1808 58 HBKBotodk

L o) & soo

II. &8 500 GOt

4

L 6 38 30D

IV. 3500 oA HOC wrer SHomr
. GO&od
D TBS DD oo SRS w§m= -

5‘@
1) LI 005w I

@ I, T S8k IV
HErES @6 :
) ‘om@@ &H0Serd)  SOED

1L ossorr, eﬁra%&&

D08 &HNOD

gowo% @0 X)&é&&)a%@o»
Il 50 oG, rudS JEre Qred

Bende  HBSTR0) ESorr

2EHS0s. _
L a8, o8008 | dorgiey,

BADOEEFS DF rew.

DOV NS BFEDA
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L The Wmvmmﬂm‘m
formaamesaflakas.

Most of these lakes are fresh water lakes.
the Rift Valley.

the Rift Valley.
Which of the above statements are correct ?
(2) IILIlIand IV
. (8 ILIHandIV
(4) I IIIandIV

102. Consider the following countries :
L Chile
II. Venezuela
HI. Ecuador
IV. Peru
V. Colombia

Which of the above Scnt&@encau ‘countries |

have a Pacific coastline ?
0 I&Iﬁa&dw
(2 LH,INandV

@ TLITand 1V only

103. Identify the incorrec

1
world._

2)

( 3

4)

northern portion of North America,
Europe and Asia.

Within this biome, there is a narrow
range of temperatures between the|
wmtaerran&wmmrmm

Lake Malawi is at the southern end in

Lake Victoria, the largest one, is a part of _

|102.

ng'a is the largest land biome in the|

This cold biome stremhea across the |

Precxpltat.xon in this bwmas modermiy= _

AC &),
B0,
& Jsyes’ J)éog,;: arﬁo S0DDE3

L A(DOE

@(5{))3@
D DB _
fﬁimaﬁnw DIES Gob.

©3DEE wans IFBAL® HBW), &
SthHen eS‘dneS‘ 2.8 2rifo.

II III Sdakn IV
3) L1158 IV
(4) I, HI Hdéasn IV

1808 Brred H0K80508 :
. 8

3derer

&350

8

Feodolr

D 880 oo aa-eg‘ HROE B B
g&n &) Bren DD ?

i Lip HI&)GO&)IV

(2)

IL.
1IL
v,
V

5650 @ém £B0S0A :
™ e 1DD030S'T @8 &

& ke Borste So8o0 B&S
SO, OGS HOOHL OSSR

(2

5 2P0 DA
& 2SS SHodeos, FETeo
S0 DY sere Y aPfisde
égaﬁo w ééo&:) aroe.no&

(4 ; ..._.‘_< . J -

S SES> D soessgor
aotnod, FWFeod  How
058008,
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104. Which of the following statements regarding
Himalayas are correct ?

1L
the North-eastern states.

The folds of Great Himalayas are

asymmetrical in nature and their core is |

composed of granite.

The longitudinal valleys lymg between |
Greater and Lesser Himalayas are
known as Duns.

Select the correct answer using the codes
given below : :

(1) ILIIand IV
(2) I, IIandIHI

@) LIdandIV
4 LILIIandIV

105. Match the following Climatic regions of India

according to Koeppen’s scheme :
List-1 List-I1
{Type of Climate) (Areas)
A. Monsoon with I. West coast of
short dry season India, south of
B. Monsoon with dry II. Coromandel coast
summer of Tamil Ngﬂu 5
C. Monsoon with dry IIL. Mostof
winter North-East India
D. Semi-arid Steppe IV. Northwestern
climate Gujarat
pse the correct answer using the codes
A B C D
1)
@2 II 1 v it
oW1 v.n
4 Im v I I

(58)

TheyarewideinKashmirdenﬁi?rbw in

104, SSrOArOD Lsocs (DEOSS D mm ?
L Sirodiren IO Sobdn beg
DGR HOAN Do EdsoT 0ddoed
2DosEeD.
2 59BS' IBen)m &’»W SeTedg
2EBST rOLTOW.
eﬁ%ﬁlé FrSreaire ocden eRrad
dgarso 5O aod e Sold 2rio
PR S 08 G000, ;
&) DO NPy AreAre
263 ) DN DS SCHOD
S &) 0ErdD.
BHS BS50A8S FheD &HTrAod 2&@&5
JPETTR), J0tHTR :
(1) I, I H0a% IV
Eri=m )
3 I,II00n1V
4) L II I SHdakw IV

=

Iv.

105. §2)S 5056 (B350 rES8BF0S' (§0d
TESED |FOTOS BSHSSOB :

el : erder Il
(TS0 650 (arosre)
S$80).5 A L fard S8 worr,
seos 2 OSB '
BHdITen 3935880
A 3 e IL §3srosd 860
BeDdSTED mm
A0 e OL Sady
KoedDSTED z.rdé&o e§‘
803 27i0
85 HNy 6 V. ranSg hzord
SEIO0
8% aN5AS Fhed addriod IBS
JSrETR) oS :

D.

A ® R
1 I i
TR IV I
& nr 1 < o
Wil W o1 1
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106. Within India, Ganga river basin has the

largest catchment area. After that, following is

the correct sequence in the decreasing order :

(1) Indus > Brahmaputra > Godavari >

Krishna

Brahmaputra > Indus > Godavari >
Krishna

Indus > Godavari > Krishna
Brahmaputra

Brahmaputra > Indus > Krishna >
Godavari

(2)

3

4

107.
These are found in :

(1)
leaching activity.

(2) the areas of high temparatme m& Iugh

(3)

(4) the areas of semi-arid climate with

salinity.
108. In India, Sholas are :

(1) Tropical forests found in the Bastar
region

(2) Tropical evergreen forests of Andaman
& Nicobar islands

(8) Moist deciduous forests in the
North-eastern states

(4) Temperate forests in the Anaimalai ancif
Palani hills _

109. In Andhra Pradesh, Dharwar types of rocks

are found in :

(1) The Krishna basin

(2) The Godavari delta region
(8) The Kurnool region

(569)

Peaty soils are one of the ma,)oraoﬂsoflndn. :

the areas of low rainfall with low

@  The Chittoor and Nellore region

106. 388308, Horr 38 oo ®aDS
HBE roed) OB G0, © STeie,
SHBS) 1F0S* HBS 1Z50 1808 dSor
GO0 :

VO > (DS > Fesd > ﬁ,)g‘

(6))

107. 88T HS TFoS' HDS ok

B8HAS SorTen Brediie HDen 288,
[ R LD

(1) S80S Ages Dok ordded) &
3rds S58 SO>S ad)
(@rosren.

SIS IpEIS B S

0D 6,3&&}0()(5&‘ &0k ssdbé
éé:‘réo 0L @HE B &)

: S  SrdS 88 DY
Wé‘ééo &) (OB,
108. ;388308 deren :
1) 285 @osod DT aRHoGe
(2) o85S | DB s Aye
G0N HebeTOS ecdayen
@)  BaS; oS 808 $rdS oS,

@@a}
1) OI[HS JNBS® ITD  FodewrS'D

@9
JIEH wBHen

SOIDBTS, ob Sve Boen ®ES
QD oW :
D ST DS
@ Fosd By |Foso
(3) B&ryen (roso
AT HOAD FOFS LM{)

109.
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110. Match the following : 110. (808 T BSDEWOLH :
List-1 List-I1 arde] zdail
i) e (SOSOTE S’ (e90S80DHHS)
Sanctuary in Species) x .
Andhra Pradesh) SISO areen)
A. Coringa I. Great Indian e deaso)
i v £80i e
B. Gundla II. Jerdon’s Courser A O L ; &
Brahmeswaram OO
C. Rollapadu I11. Saltwater Crocodile 5 &SQ . & S
(&erd 360
D. Sri IV. Tiger
 Lankamalleswara C. 8¢> ML &) &3 3nd
j D. B 0osdHs8 V. 3O
gms;elt:: :co S . ttm . BIHS asAS Fhe adBriod OB
' 5 JHIFTTR) dotEod :
{11 I II1 v (1“0 I I v
I ¥ e N Iv I 2 H I v I
-1 | v i
(8) ik I v I =
= (4) I v I II
@ W TN 1 1I '
- 5 0 111 (808 D 2858508 :
111, Match the following : J oy
List-I List-IT -
(Hunters/ . (Region) Clinio (roso)
Nomadic tribes) Soird Sifev) e
. Masai II. Congo basin
e B. arow II. soff BOS
C. Semangs II1. Borneo
D. HIS V. H8acse
Choose the correct answer using the codes 1
given below : BHS AS5AS Fhod GIB/rAcD SBS
a B p B JIPTRR), NothHE0H :
L A B C 0
1) I 11 Il v
1 I II 11 v
w1 W aE )
(e o0 1 v I
3 II I v 11
@ m I v I
@4 I v I II :
@ I v | I
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In 1961 census, 1652 languages were| -

b

(1) 1961 marer BEO [HEC0, 2rESTH0S

1)
listed as mother tongues in India. b 1652 2rden Sréyrdenr @rdee
(2) Kachchi and Sindhi are Indo-European| SoHagrow.
languages. (@ D) SO od 20E-0LrEHHS
(3) Austric languages are spoken by the| e,
tribal groups in Jharkhand. @ o Faod FPESD Az
(4) Dardi is a Sino-Tibetan language. RSN P VNV A T o
118. Match the following : NSRS 08 DO-SB05 0.
List-1 List-11 118 mem 2856506 :
(Slash and burn (Practising region)
i) el zrdeIl
A. Ladang I. Central America (DD SgSarao) ©  (Fw &rosso)
B. Milpa Il. Indonesia A ool [ 85 b5
C. Roca 11 C-ant:ralAﬁ’:ca B ery I =WEIa
D. Masole IV. Brazil c s ML S5 eds
Choose the W answer using the codes D. &S . 325
en below : :
- & 3__-3-};;_; c D BIDS B3RS FhOSH SOJ/rAod HBS
' : | JErTR) A0THEOR :
TR T S Pl oW
OF T G I _ | BB
114. Followmg are t@e regions of Tron and Steel| &) 1 I
dustry i ﬂmm‘fa =
e 114, (8082 HH0BOS'D B HOAD &0y
I.  The Atlantic wmt region : The Umted :3‘3@:3@ @rosreD : :
States @trotss 85 | Foso e 0s°
I.  The Ural region : Russia mcﬁnﬁw@‘e_»
II. The Ruhr region : Eastern Europe 1. zgog Lg"éo + Oarg 2
Hi. : o
IV. The North-eastern and Central parts : o éﬂ"&% s ::;6 i J§ & e
The United Kingdsin L m@’&gé e i
Wiich. of thas Ghirvs sty S0RSIN) A Whchiad 7 | 28 OIS S DD SO HOHOSD?
(1) I,Mand I 1) L1 SH8cko I
(@ TLlandlV 2) LI S805 IV
3 ILIlandIV (@) LI 005 IV
4) LILIIandIV @ LII I 605 IV




GS/1G/100

115. Trans-Siberian Railway runs between the

stations in Russia from :
(1) Moseow to Viadivostok
(2) Moscow to Khabarovsk

(3) St. Petersburg to Vladivostok

116.

(4) St. Petersburg to Khabarovsk

Consider the following states of India :
I Punjab

II. Odisha
Haryana
Tamil Nadu

IIlL.
Iv.
Which of the above states have relatively high

level of groundwater utilization ?

(1) L 1IIand I

(2 ILMandIV

(3) ILIIandIV

117.

(4) LI, HIIandIV

Identify the imcorrect statement on Wheat
crop cultivation in India :

(1) It is the second most important cereal
crop.

It is a Rabi crop that requires a cool
growing season.

It is chiefly grown in the Ganga-Satlyj

plains.

2)

3)

Black soil region of the Deccan is not
suitable for wheat cultivation.

4)

(62)

115.

{116,

A

x5S 1855y DOOHS Qﬁ_g & VAd
- aGS FOLNOBD :
1) SR Hod TASTS 5’3%5«3
2 S SHod pFS)) S6%
B) owod nebiab ok T
S68% :
@) on0s Hebyl od DR0SN
G50
OSTE0S’D & 180d olared
2BHBoS 0B :
L Bozds
I 6%
. o
IV. SD¥d
D oFes’ 388’ $ris) sere Ao
FHiom HySraod? '
{1 LII6o%w I
(2) LSOOIV
3) L IIH0a» IV

117.

)

@ L II, 11 000 IV

rESTHoS HHd Doty D EDIS

(D850 800 :

U @6 Doas ©3  Iwes
SISO DO, -

28 HHSS) swod 28 SR
TEIG0R0 ©ID5THs 8D How.

@) b Hedor Kor-oBE oo

HHo.
E4) A%, 88D SBHA Jo |Foso Mg
C w5 ©8re0 S,
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118. Consider the following oil fields of India :

119.

120.

I  Digboi
II. Moran

II. Kalol

IV. Naharkatiya

Which of the above oil fields are located in
Assam ? :

(1) I, HandIlI

(2) LHOandIV

I, IIT and TV
LIIIIand IV

(3
(4)

In India, most of the jute mills are located in :
(1) Damodar basin .
(2) Subarnarekha basin
(3) Hugli basin
EEET
(4) Brahmaputra basin

C&nszderthe following erstwhile districts of .

Andhra Pradesh :
L West Godavari
II.  East Godavari
1. Visakhapatnam
IV. Srikakulam

s

In which of the above districts are coffee|

plantations mainly existing in their agency
areas ?

(1) I IHandIll

@

(2) IIand Il only

(3) LIlandIV

11T and IV only

FESBI0S'D & 806 Sdwdk TEed
HBKBoS0B :
L Ofdd
I 3088
m. 35S
IV. &&58;8a0
S DEYLS) SANG §Eos’ DD e yos
G0N ?
1) LI 8ok I
(2 LIO8S»IV
@ 1,1 00 IV
(4) I II HI 805 IV

119, grds8¥0S, trer 6% 27 even
288 G ON
(1) IS SO roso
2) Dogdp & @roso

126 SOGHBISD & (808 Fs VoD
$BKeBoTIOA : ’
L 5% oesd
I &rdH)Fowsd
L JTPdE)0
IV. 3s%¢0
28 DS D 2T vhH Seen (Hordsor
$3 9B |oed’ smryon ?
(1) 1,1 S8cs» I
[ @ 138cmm Sl
(8 1,580 IV
@) I 80k IV Srehsd
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